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Abstract

In this paper I present an endogenous growth model where the engine of growth is in-
house R&D performed by high-tech firms. I model knowledge (patent) licensing among
high-tech firms. I show that if there is knowledge licensing, high-tech firms innovate
more and economic growth is higher than in cases when there are knowledge spillovers
or there is no exchange of knowledge among high-tech firms. However, in case when
there is knowledge licensing the number of high-tech firms is lower than in cases when
there are knowledge spillovers or there is no exchange of knowledge.
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1 Introduction

A number of growth models treat private firms’ intentional investments in R&D as the
driver of long-run growth and welfare (e.g., Romer, (1990, |Aghion and Howitt, 1992,
Smulders and van de Klundert},|1995) . These models assume that there are knowledge
spillovers in R&D process and R&D builds on a pool of knowledge. In this sense these
growth models abstract from the role of knowledge (patent) licensing and from the
details about the exchange of knowledge in the economy. Nevertheless, licensing and
establishing consortia for exchanging patents is common in high-tech industries (e.g.,
Hagedoorn, 1993, 2002) [] Moreover, it has been argued extensively that exchanging
patents plays a significant role for innovation in these industries (e.g., Grindley and
Teecel, |1997), |[Shapirol 2001, [Clark et al.| QOOO)EI For instance, yet at the beginning of
the previous century the major players in the Radio, Television and Communication
Equipment industry in the United States experienced difficulties in innovating and
advancing their products until the establishment of a patent consortium, RCA Cor-
poration. Meanwhile, high-tech industries are the top private R&D performers and
there is a large body of anecdotal and rigorous empirical evidence that they make
a significant contribution to economic growth (e.g., [Helpman (1998, |Jorgenson et al.|
2005)).

In this paper I present an endogenous growth model where high-tech firms engage
in intra-firm (or in-house) R&D and that drives long-run growth. High-tech firms
have exclusive rights to the type of their product. In a high-tech firm the innovation
enhances firm/product-specific knowledge which reduces the firm’s marginal costs or
increases the quality of its product. High-tech firms finance their R&D expenditures
from operating profits. They set prices and compete strategically in their output
market. My point of departure is that I model knowledge (patent) licensing among
high-tech firms. The knowledge generated in a high-tech firm cannot be used for free,
but it can be licensed. Given that each high-tech firm produces a distinct type of
good, for a high-tech firm the knowledge of other high-tech firms is complementary
to its own. If a high-tech firm licenses the knowledge of another it can combine that
knowledge with its own and improve its in-house R&D process since the latter builds
on the knowledge that the firm possesses.

In such a setup I show how market concentration, intensity of competition as mea-

In terms of 2-digit ISIC (Rev. 3), according to OECD STAN data high-tech industries as measured
by R&D intensity are, for example, 24, 29, 30, 31, 32, 33, 34, 35, 64 and 72.

2Currently, there are virtually no comprehensive data for measuring the size of the market for patents
and other types of intellectual property. According to some estimates (Robbins, |2009) in the US in 2002
corporate domestic income from licensing patents and trade secrets was $50 billion or approximately
25 percent of total private R&D expenditure. Moreover, it was expected to grown at more than 10
percent annual rate.



sured by the elasticity of substitution between high-tech goods, and type of competi-
tion (Cournot or Bertrand) can matter for innovation in the high-tech industry and
aggregate performance. I contrast the inference from this setup to the inference from
setups where there is no exchange of knowledge among high-tech firms and/or there
are knowledge spillovers (i.e., firms obtain others’ knowledge for free). Further, it is
often conjectured that the use of high-tech goods such as phones and PCs entails posi-
tive externalities, which lower the transaction costs and increase the efficiency of users
(e.g., Leffl 1984). I assess how innovation in the high-tech industry and aggregate
performance depend on the magnitude of such externalities.

I show that when there is an exchange of knowledge among high-tech firms in
the form of licensing or spillovers, innovation in the high-tech industry and economic
growth increase with the number of high-tech firms. The driver behind this result are
the relative price distortions which are due to price setting by high-tech firms. This
distortion adversely affects the demand for high-tech goods. Given that high-tech firms
interact strategically in the output market a higher number of firms implies lower mark-
ups and lower distortion. This increases the demand for high-tech goods and implies
higher output and investments in R&D in the high-tech industryf}| However, if there is
no exchange of knowledge among high-tech firms, then increasing the number of firms
has two effects on innovation in the high-tech industry. One is the lower distortion,
which is positive. Another is negative and is due to lower amount of R&D inputs
available per high-tech firm. When the number of high-tech firms is relatively low the
positive effect dominates, whereas for a relatively high number of firms the negative
effect dominates. This negative effect when there is knowledge exchange among high-
tech firms is offset by more complementary knowledge made available by high-tech
firms.

I further show that in all the setups that I consider, innovation in the high-tech
industry and economic growth increase with the intensity of competition. Tougher
competition, which is defined as the type of competition with lower mark-ups (Bertrand
vs. Cournot; Sutton, [1991), also implies more innovation in the high-tech industry
and higher growth. These results are in line with the results of Smulders and van de
Klundert| (1995) and [van de Klundert and Smulders (1997), and hold because both more
intensive and tougher competition reduce mark-ups and the relative price distortions/]

The availability of complementary knowledge also motivates innovation in the high-

tech industry. High-tech firms innovate more and the economy grows at a higher rate if

30’Donoghue and Zweimiiller| (2004) have a similar result in a Schumpeterian growth model. |[Vives
(2008) shows that such a result can also hold in partial equilibrium for various types of demand
functions.

4The positive relation between innovation and different types of competitive pressure is consistent with
the empirical findings of, for example, Blundell et al.| (1999) and [Nickell (1996).



there is an exchange of knowledge among high-tech firms than if there is no exchange.
This is because R&D builds on a bigger pool of knowledge if there is an exchange of
knowledge. Moreover, if there is no knowledge exchange high-tech firms might not
innovate at all if there are many of them in the market. The driver behind this result
is the scarcity of R&D inputs available per high-tech firm if there are many such firms.
High-tech firms also innovate more and the economy grows at a higher rate when there
is knowledge licensing compared to the case when there are knowledge spillovers among
high-tech firms.

The higher magnitude of positive externalities from the use of high-tech goods
implies lower innovation in the high-tech industry. Nevertheless, economic growth
increases with the magnitude of these externalities. Innovation declines because the
higher magnitude of positive extenralities brings no additional internalized benefit to
high-tech firms and in equilibrium it implies a higher rate of interest. In turn, eco-
nomic growth increases since the higher magnitude of externalities implies a higher
contribution of innovation in the high-tech industry to growth.

Finally, I endogenize the number of high-tech firms assuming cost-free entry. Inno-
vation in the high-tech industry and economic growth are the lowest in case when there
is no exchange of knowledge among these firms. In turn, innovation in the high-tech
industry and economic growth are the highest in case when there is knowledge licensing
among these firms. This happens, however, at the expense of the number of high-tech
firms (or the variety of high-tech goods.) In other words, the number of high-tech firms
is the lowest in case when there is knowledge licensing and the highest in case there is
no exchange of knowledge.

Increasing the intensity and/or toughness of competition reduces the number of
firms. When there is an exchange of knowledge among high-tech firms this has no
effect, however, on allocations, innovation in the high-tech industry, and economic
growth. Meanwhile, allocations change and innovation and economic growth tend to
increase with the intensity and toughness of competition if there is no exchange of
knowledge among high-tech firms.

This paper is related to the endogenous growth literature (e.g., Romer} 1990, Aghion
and Howitt], 1992 Smulders and van de Klundert, |1995) where the positive growth of
the economy on a balanced growth path is a result of technological and preference fac-
tors. In particular, it is related to studies which in an endogenous growth framework
suggest how the aggregate performance can be affected by imperfect competition in an
industry where the firms engage in in-house R&D (e.g., van de Klundert and Smul-
ders, 1997)). It contributes to these streams of studies while showing how knowledge
licensing in such an industry can affect innovation in that industry and the aggregate

performance. It also contributes while showing how the positive externalities from the



use of the goods of such an industry can affect the decentralized equilibrium outcomes.

Further, there is a number of papers that model knowledge (patent) and technology
licensing in standard Schumpeterian growth framework and show how patent policy and
international technology licensing can affect innovation and growth (e.g., (O’Donoghue
and Zweimiiller, 2004, [Yang and Maskus, 2001, Tanaka et al., |2007)). In these papers
licensing happens between incumbents and entrants given that in standard Schum-
peterian growth framework incumbents have no incentives to innovate. Licensing does
not explicitly aid R&D process and licenses are essentially permits for production. In
such a framework in order to maintain incentives for licensing, these papers assume
that either licensors and licensees (incumbents and entrants) collude in the product
market or licensees can access larger market (e.g., one of the countries bans FDI). The
share in collective profits and licensing fees compensate incumbents’ loss of the prod-
uct market (and costs of technology transfer) and are either exogenous or exogenously
determined by patent policy. In contrast, this paper has a non-tournament framework
where incumbents innovate because that allows stealing market share and licensing
happens among incumbents. Firms have incentive to license knowledge from other
firms because that aids their R&D process. Further, license fees are determined by the
structure of the market for knowledge, which can depend on patent policy, and supply
and demand conditions. To that end, the framework and analysis of this paper can be
thought to be complementary.

There is also a large body of firm- and industry-level studies that analyze the impli-
cations of patent licensing, patent consortia or pools, and knowledge exchange amongy
firms on innovation and market conduct (e.g., Gallini, |1984, |Gallini and Winter|, 1985|
Shapiro, 1985 Katz and Shapiro, (1985 Bessen and Maskin, 2009)). This paper ana-
lyzes such issues at the aggregate level in a dynamic general equilibrium framework
which assumes an undistorted market for knowledge/patents. This assumption allows
to have tractable inference and can be justified to the extent that this paper aims to
address long-run issues, for example. In turn, the dynamic general equilibrium frame-
work allows to endogenize the growth rate of the economy and the effect of knowledge
licensing on, for example, interest rate which affects the incentives to perform R&D.
Licensing in this paper ceteris paribus motivates R&D. This, in turn, implies higher
growth rate and higher rate of interest which reduces the incentives to perform R&D.

The next section offers the model. Section 3 analyzes the features of dynamic

equilibrium. Section 4 concludes.



2 The Model

Households

The economy is populated by a continuum of identical and infinitely lived households of
mass one. The representative household is endowed with a fixed amount of labor (L). It
inelastically supplies its labor to firms which produce final goods and to high-tech firms.
The household has a standard CIES utility function with an inter-temporal substitution
parameter § and discounts the future streams of utility with rate p (6, p > 0). The
utility gains are from the consumption of amount C' of final goods. The lifetime utility

of the household is .

1-6 1
U:/CtlTexp(—pt)dt. (1)
0

The household maximizes its lifetime utility subject to a budget constraint,

A=rA+wL - C, (2)

where A are the household’s asset holdings [A (0) > 0], r and w are the market returns
on its asset holdings and labor supply.
The optimal rule that follows from the household’s optimal problem is the standard
Euler equation, .
) (3
This, together with budget constraint , describes the paths of the household’s con-

sumption and assets.

Final Goods

Final goods are homogeneous, Y. The household’s demand for final goods is served by
a representative producer. The production of final goods requires labor and X, which is
a Dixit-Stiglitz composite of high-tech goods {xl}f\il with an elasticity of substitution
€.

Ceteris paribus the increasing demand of X creates externalities in final goods
production, which are measured by X. These externalities increase the productivity
of the final goods producers. For example, these externalities stand for network effects

that stem from using high-tech goods such as PCs and phones.



The production of the final goods has a Cobb-Douglas technology and is given by
Y = XXL, (4)

v (557) a 5

1>0>0,e>1,

where Ly is the share of the labor force employed in final goods production.

For ease of exposition, the problem of the representative final goods producer is
divided into two steps. In the first step the representative producer decides on the
optimal combination of Ly and X in Y and in the second step it decides on the
optimal amounts of high-tech goods z in X.

Therefore, in the first step the representative producer solves the following problem.

max {Y —wLy — PxX}

Ly.X

s.t.

(1),

where Py is the "price” (private marginal value) of X and Y is the numeraire. The
optimal rules that follow from this problem describe the final goods producer’s demand

for labor and the optimal amount of X for the production of Y,

[Ly] : U)LY = (1 - O’) Y, (6)
[X]: PxX = oV, (7)

In the second step the producer solves

N
max {PXX — mezx,} ,
i—1

N
{zi}ilq ?

s.t.

®),

where p, is the price of x. This implies that the demand for a high-tech good is

) = x (2X) 0

pmj



From this expression follow two equilibrium conditions,

N
=1

)

1—¢e

o= (To) (10)

where the first means that there is no waste and the second implies that Py is an index
of p,.
Further, I assume that the measure of externalities X is given by

X =X"

?

where £ measures the strength of these externalities (1 —o > p > 0)f]

High-tech Goods

At any time t there are N(t) producers in the high-tech industryﬁ

Production

Each high-tech firm owns a design (blueprint) of distinct high-tech good z, which it
produces. The production of a high-tech good requires labor input L,. The production
function of a high-tech good z is

T = ALy, (11)

where \ measures the producer’s knowledge of production process or quality of the high-
tech good. This knowledge is firm/product-specific since each high-tech firm produces
a distinct good.

High-tech firms are price setters in their output market and discount their future
profit streams 7 with the market interest rate r. I assume that high-tech firms cannot

collude in the output market.

Knowledge Accumulation

High-tech firms can engage in R&D for accumulating knowledge and increasing A. This
can be interpreted as a process innovation that increases productivity (the firms are

able to produce more of x), or as a quality upgrade (the firms are able to produce the

5Tt is necessary to have 1 — ¢ > p in order for the production function of final goods to be concave
in X in the Social Planner’s problem.
6Tn order to avoid complications arising from integer constraints I allow N to be real number.



same amount of higher quality z). Knowledge is non-rival so that potentially it can be
used at the same time in multiple places/firms.

In this section I offer three different settings of knowledge accumulation/R&D pro-
cess. The differences stem from whether and how knowledge is exchanged among
high-tech firms [

Hereafter, when appropriate for ease of exposition I describe the properties of the
high-tech industry while taking as an example high-tech firm j, j € (1, N]. In order to
improve its knowledge A; the firm needs to hire researchers/labor L,,. Researchers use

the current knowledge of the firm in order to create better knowledge.

Knowledge Licensing: This is the benchmark setup (S.1). Knowledge in this setup
can be licensed. In the market for knowledge the licensors (or the suppliers of knowl-
edge) have the bargaining power in the sense that they can make a ‘take it or leave it’
offer.

The benefit from licensing knowledge is that it can be used in the in-house R&D
process. If high-tech firm j decides to license knowledge from other high-tech firms, its
researchers combine that knowledge with the knowledge available in the firm in order
to produce new knowledge. The knowledge available in the firm is an essential input
in the knowledge accumulation process of the firm. Moreover, it is the only essential
input. This implies that the high-tech firm does not need to acquire knowledge from
other firms in order to advance its own. However, it needs to have its knowledge for
building on it. This is in line with that high-tech firms produce distinct goods P[]

The knowledge accumulation/R&D process is given by

. N
)‘j = f |i; (ui,j)\i)al )\jl-iaLTj, (12)

E>0,1>a>0,

where £ is an exogenous efficiency level, w; ; is the share of knowledge of firm i (\;)
that firm j licenses, and u;; = 1.|E

It can be shown that in the elasticity of substitution between the different
types of knowledge that the high-tech firm licenses is equal to 17101’ It can also be
shown that the elasticity of substitution between the high-tech firm’s knowledge and

"The functional forms of the knowledge accumulation processes are selected so that they ensure a
balanced growth path.

8In these setups each high-tech firm engages in in-house R&D and there is no R&D cooperation.
analyzes the case when firms cooperate in R&D and compete in the product market.
9One way to think about this setup is that high-tech firms can use their knowledge (patents) and build
around others’ knowledge.

10T assume that license contracts do not allow sub-licensing.

HWAppendix E.2|incorporates knowledge spillovers and depreciation in this R&D process.



any knowledge that it licenses is lower than {2 (see [Appendix T.1). This restates the

importance of the firm’s knowledge for its knowledge accumulation process.

In this knowledge accumulation process because of summation the productivity
of researchers increases linearly with knowledge licensed from an additional high-tech
firm. Such a formulation can be justified if there are significant complementarities
among the knowledge of high-tech ﬁrms.H Further, it might seem brave to assume
that knowledge accumulation in a single firm can have non-decreasing returns.ﬂ This
assumption allows to focus on the effect of market structure of the high-tech industry
on innovation in that industry through competitive pressure. It can be relaxed setting
uj; = 0 in square brackets in . In such a case in this model knowledge licensing

(or exchange of knowledge) is a necessary condition to ensure non-decreasing returns

to knowledge accumulation and positive growth in the long-run (Appendix E.3| offers

the main properties of the model if u;; = 0). The knowledge accumulation process
(12) can also be viewed as a simplification leading to tractable results. It ensures that
there exists a balanced growth path, for example.

One way to think about this setup is that each high-tech firm can license the
patented knowledge of other firms in order to generate its patented knowledge that
helps to improve its production or output. The firm does not use the knowledge that it
licensed directly in the production of its high-tech good because that knowledge needs
to be combined with its own knowledge, and that requires investments in terms of hiring
researchers (and time). The latter seems plausible for technologically sophisticated

(e.g., high-tech) goods.

Knowledge Spillovers: In this case (S.2) there are knowledge spillovers among high-
tech firms. In high-tech firm j the researchers combine the knowledge that spills over
from other high-tech firms with the knowledge available in the firm while generating
new knowledge. In order to maintain symmetry I assume also that the researchers do
not fully internalize the use of the current knowledge available in the firm and have
external benefits from it. Similar to the previous setup, this assumption allows to
focus on the effect of market structure of the high-tech industry on innovation through

competitive pressure.ﬂ

12Rivera-Batiz and Romer| (1991) and Grossman and Helpman (1995) have a similar additive structure
for knowledge in the R&D process in the context of knowledge spillovers between countries. [Peretto
(1998al) and |Peretto (1998b) have a similar structure in the context of knowledge spillovers among
firms in an industry.

13In this respect, a high-tech firm can be a firm that started with tabulating machines and reached the
point of producing supercomputers and artificial intelligence systems (e.g., IBM).

1 relaxes this assumption and offers the main properties of the model.



The knowledge accumulation process is
Ay =EANTL,, (13)

where I assume that in equilibrium A is given by

N_N a |15
A:Z&I (14)
=1

An interpretation of this case is that there are knowledge externalities/spillovers
within high-tech firms and there is a market for knowledge where the potential licensees
have a right to make a ‘take it or leave it’ offer. The licensees under this assumption
receive the knowledge at no cost (i.e., there are knowledge spillovers) if the supply
of knowledge is not elastic. The supply is necessarily inelastic if licensors do not have
trade-offs and /or costs associated with licensing knowledge. It seems natural to assume
that once knowledge is created its supply entails virtually no costs. Meanwhile, there
would be no trade-offs if licensors do not take into account that the knowledge they
license is used for business stealing: the licensees use it in order to reduce their prices
and steal market share. I assume that licensors do not take into account this effect.

Such an assumption is not new to this line of literature. Many papers (e.g., [van de
Klundert and Smulders, |1997)) assume that the originators of knowledge spillovers (here,
high-tech firms) do not internalize the effect of spillovers (here, licensed knowledge) on
other’s knowledge accumulation and production processes. This assumption helps to
avoid complications in differential games arising from the dependence of the current
choice on the entire future (or history) of states.lﬂ Further, in the frames of this model
this assumption is necessary in order to give such a market-based interpretation to
knowledge spillovers, which links this setup (S.2) with the previous one (S.1).

In this model, similar to A, the design of a high-tech good can be interpreted
as knowledge/patent. In order to guarantee that high-tech firms have incentives to
innovate it needs to be assumed that (at least for sometime) the knowledge on the
design of high-tech goods does not spill over or cannot be used by other firms without
appropriate compensation. Any high-tech firm, nevertheless, could sell the design of
its high-tech good at market value: the discounted sum of profit streams earned selling

the high-tech good.ﬂ Therefore, the market structure of knowledge on the production

5Perettol (1998a) and Peretto (1998b) model the knowledge accumulation process similar to and
, though these papers assume that a = 1.

16In this model, under this assumption high-tech firms do not realize that the knowledge which they
accumulate enters the knowledge accumulation process of other high-tech firms and from the next
instance augments their rivals’ productivity. If they realized that, then by integrating over the (future)
changes of knowledge of their rivals they could track how their current investment in knowledge affects
the productivity and market share of their rivals in the future.

1"This simply implies that the name of the high-tech firm does not matter.

10



process or the quality of high-tech goods A where the licensors have a right to make a
‘take it or leave it’ offer seems to be more appropriate in such a setup.

In this model A\ can also be viewed as a patent on the production process or the
quality of the product. Such market-based interpretations are then appropriate if,
for example, there is strong enforcement of intellectual property rights and patent in-
fringements are detectable. Given the recent history of the high number of patent
infringement lawsuits in high-tech industries, both assumptions seem to be plausible.
Meanwhile, the existence of lawsuits can indicate that the market structure of knowl-
edge/patents where buyers have a right to make a ‘take it or leave it” offer may not be

realistic.

No Exchange of Knowledge: In this case (S.3) there is no exchange of knowledge
among high-tech firms. Moreover, in the process of generation of new knowledge the
researchers do not fully internalize the use of previous knowledge available in the firm
and have external benefits from it.

The knowledge accumulation is given by
A =ENL,, (15)
where X stands for the external benefits and I assume that in equilibrium

A= (16)

Clearly, in a symmetric equilibrium this case can also be interpreted as if there is an
exchange of knowledge among high-tech firms in terms of spillovers and these spillovers

are from average knowledge, i.e.,

s 1 X “

The spillovers from average knowledge, however, mask the existence of complemen-
tarity among the knowledge available in different firms. This is because the spillovers
from an additional firm might bring no additional benefit. Therefore, I prefer avoiding
this interpretation. In this respect, the knowledge accumulation process and
can be interpreted as if the exchange of knowledge among high-tech firms is banned (or
there is no appropriate institutional framework for it). It is clear that and
reduce to if there is no knowledge exchange among high-tech firms [i.e., and

are equivalent if u; ; = 0 for any 7 # j and limiting case a = 0; and are

Bvan de Klundert and Smulders| (1997) have a similar formulation for the knowledge accumulation
process.

11



equivalent if \; = 0 for any ¢ # j |.

Optimal Problem

The revenues of high-tech firm j are gathered from the supply of its high-tech good and
in the case when there is knowledge licensing (S.1) from the supply of its knowledge
(u;iAj; Vi # j). The costs are the labor compensations and license fees in case when
there is knowledge licensing. The high-tech firm maximizes the present discounted
value V' of its profit streams subject to , , and either , or , or .
Under Cournot competition, the high-tech firm chooses the supply of its product (i.e.,
L,;) given the (inverse) demand for it. In contrast, under Bertrand competition the
firm chooses the price of its product (i.e., p,,) given the demand for it.

Formally, the problem of the high-tech firm is

max v, (f) = ]wwj (t) exp {— tftr (s) ds} dt (17)

. .. .. N
Cournot: sz,LTj,{ujﬂ,uw }1:1;(1'7&]')

N
Bertrand: pa;,Lr; {ujiti b0 )
s.t.

, and either , or , or ,

where t is the entry date and

Tj = Pa,Tj — W (ij + Lrj) (18)
N N
122 Py (W) = D2 Pugn (i) | -

In profit function 7; the term in square brackets stands for knowledge licensing, and
Du;x; and py, x, are the prices of u;;\; and u, jA;.
The solution of the optimal problem implies that the supply of high-tech good z;

and the demand for labor for knowledge accumulation are

L) 0=, (1= 1), (19)

€j
Aj
b
L,

L] i w =g (20)

where e; is the elasticity of substitution between high-tech goods perceived by the

high-tech firm and gy, is the shadow value of knowledge accumulation.

The perceived elasticity of substitution (e;) varies with competition type. It can

12



be shown that under Bertrand competition

-1

(22)

The terms in square brackets in and measure the impact of other high-tech
firms on the demand of high-tech firm j. In other words, they measure the extent
of strategic interactions among high-tech firms. Moreover, these terms indicate the
difference between the perceived elasticity of substitution (e) and the actual elasticity
of substitution (). Therefore, they indicate some of the distortions in the economy
which stem from imperfect competition with a finite number of high-tech firms. In a
symmetric equilibrium, when the number of firms increases, these distortions tend to
zero since the terms in square brackets tend to zero.

In case when there is knowledge licensing (S.1) the returns on knowledge accumu-

lation are
(jA- 1px 8)\ N Pu; Aj Uj i
A L =r— — L, + =L+ e , 23
A 3y ( er gy 0N %;ej 3y (23)
k=CR,BR,

where the first term in brackets is the benefit from accumulating knowledge in terms
of increased output. The second term is the benefit in terms of higher amount of

knowledge available for subsequent knowledge accumulation,

14(1l—a) 3 (Mﬂ L. (24)

i=Tizj \ Aj

)Y

o\ =¢

In turn, the third term in brackets is the benefit in terms of increased amount of

knowledge that can be licensed.

13



The demand for and the supply of knowledge in this case are

)\' 11—« ' '
[wig] © Pusjni = O € (u J)\) Ly;, Vi # 3, (25)
1,77\

[Ujﬂ‘] : Ujﬂ' = 17 \V/Z 7é j, (26)

which means that the firm has a downward sloping demand for knowledge and li-
censes/supplies all its knowledge.
In case when there are knowledge spillovers among high-tech firms (S.2) the returns

on knowledge accumulation are given by but
Puj iy = 0, Vi, (27)

and _ N N
g—i; —E(1-a) [21 G—j) } L. (28)
The first expression means that the licensees receive knowledge (patents) for free. In
turn, there is a difference between and because in S.1 case there are no
knowledge externalities within high-tech firms.
In turn, if there is no exchange of knowledge among high-tech firms (S.3) the returns

on knowledge accumulation are given by where the third term is absent and

- €-a)L, (29)

The expression for the price of knowledge indicates that the licensees pay a
fixed fee for it. The fee is equal to their marginal valuation of the knowledge that
they acquire. This valuation includes all future benefits from using that knowledge
for augmenting their current knowledge. Therefore, the licensors appropriate all the
benefit from licensing knowledge (i.e., they make the ‘take it or leave it’ offer). With
a continuous accumulation of knowledge, as given by , at each and every instant
the licensees acquire new knowledge at a fixed fee.

It is clear from that I have assumed that the firm does not take into account
the effect of accumulating knowledge on the price of knowledge p,, ;. From it
follows that p,,,, declines with A;. In this sense, I focus on a perfect market for
knowledge (where the price of knowledge is equal to its marginal product and the
licensors appropriate all benefit). An alternative assumption would be that the firm
internalizes this effect. In such a circumstance there is an additional term in : the
derivative of p,, ., with respect A;.

Even though taking into account this effect changes the incentives of accumulating
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knowledge, it does not affect the supply of knowledge . This is because supply
entails no costs and/or trade—offs.ﬂ

In the frames of this model the assumption that the licensors of knowledge do
not take into account that their knowledge is used for business stealing amounts to
assuming that firm j takes ¢, for any ¢ different than j as exogenous. This is in line
with assuming that it takes p,, .\, as exogenous.

Finally, in equilibrium there is no difference if high-tech firms license their knowledge
in return to wealth transfer or knowledge of other firms (plus-minus a fee). Therefore,
knowledge licensing among high-tech firms can also be thought to resemble patent

consortia or pools.

Firm Entry

I focus on two regimes of "entry” into the high-tech industry. In the first regime there
are exogenous barriers to entry (i.e., there is no entry) and all firms in the market are
assumed to have entered at time 0 (t = 0). In the second regime there are no barriers
to entry into the high-tech industry. Moreover, entry entails no costs. To certain
extent such a setup might be more appropriate for modelling exit rather than entry.
This setup allows to have tractable results for the case when there is no exchange of
knowledge among high-tech firms. Later in the text I offer and highlight the balanced
growth path properties of a setup where entry entails endogenous costs for the cases
when there is an exchange of knowledge among high-tech firms (S.1-2).

In order to support symmetric equilibrium, I assume that the entrants into the
high-tech industry have the highest productivity available at that date. Further, I

assume that high-tech firms do not coordinate on their entry and exit strategies.

3 Features of the Dynamic Equilibrium

I restrict the attention to a symmetric equilibrium in the high-tech industry.
I denote the growth rate of a variable Z by ¢g;. Further, for subsequent analysis it

is useful to define functions I, , and I%, , as

N { 1 for S.3,
S.1-2

N otherwise

Appendix E.4| derives the model under this alternative assumption. It shows that high-tech firms
innovate less if they take into account the effect of knowledge accumulation on the price of knowledge.
This is because innovating decreases their returns on knowledge licensing.
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and

1 otherwise.

o { 0 for S.1,
5.2-3

The growth rate of knowledge/productivity in cases when there is an exchange of
knowledge among high-tech firms (S.1-2) is given by , , and . In case when
there is no exchange of knowledge (S.3) it is given by . Using 7Y, , it can be

written as
gr = I8, 5L, (30)

for all S.1-3 cases.

The (internal) rate of return on knowledge accumulation can be derived from the

optimal rules of the high-tech firm , , and —. It is given by
L, 1
9o =7 =97 +1—alg, 5. (31)

This expression determines the allocation of labor to R&D in a high-tech firm relative
to the allocation of labor to production. Here, this ratio does not (explicitly) depend on
competitive pressure in the high-tech industry. This is because high-tech firms decide
on the division of labor between production and R&D internally and L, and L, are
paid the same wage.

From the high-tech firm’s demand for labor for production , the representative
final goods producer’s optimal rules @—, and the relation between PxX and p,x
@D follows a relationship between NL, and Ly,

NL, = —2 bLy, (32)

l1—0

where
ek —1

V=
ok

: (33)

This relationship shows the effect of price setting by high-tech firms. In symmetric

equilibrium the perceived elasticities of substitution are

-1
eBR—¢ © ) (34)

CR €
"t = —. (35)
1+ 5
Therefore, competition is tougher and mark-ups are lower if high-tech firms compete
in prices, e > ¢“F. Moreover, mark-ups decline with the number of firms N and «.
This implies that the ratio J\%—}J’ declines with N, € and toughness of competition. This

is because as the competitive pressure in the high-tech industry increases the relative
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price of x declines, which increases N L,. Meanwhile, final goods producers substitute
X for Ly which reduces Ly .

From 1} it is clear also that ]\f—LYx declines with ¢ and does not depend on p. The
first result holds because higher ¢ implies higher marginal product of X and lower
marginal product of Ly. The second result stems from the assumption that efficiency
gains due to external effects are Hicks-neutral.

The relationship between NL, and Ly together with labor market clearing
condition,

L=Ly+ N (L,+ L), (36)

implies a relationship between NL, and NL,,

NL,=D"(L-NL,), (37)

k_"(ek_l)
Db = —F— (38)

Meanwhile, in the final goods market since either there is no entry or entry entails

where

no costs and the assets in this economy are the high-tech firms it has to be the case
that
Y =C, (39)

which means that all final output is consumed.

Entry Regime 1: Exogenous Barriers to Entry

I take N > 1 and allow profits 7 in to be negative. This is needed in order to
characterize the behavior of labor force allocations and growth rate of knowledge for
any N > 1, ¢, and type of competition, and can be supported by subsidies, for example.

Decentralized Equilibrium

Since there are exogenous barriers to entry the number of firms is fixed,

N:gN:gL;l:O.

e

20 DF measures the effect of competitive pressure in the high-tech industry on allocations of labor force.

shows that in the limiting case when ¢ = 1 competitive pressure in the high-tech
industry does not matter for these allocations. This is because in such a case there are no relative

price distortions.
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In such a case from it follows that consumption and final output grow at the same

rate,

gc = gy- (40)

Let the consumers be sufficiently patient so that § > 1, which is a standard stability
condition in multi-sector endogenous growth models and seems to be the empirically

relevant case.

Proposition 1. Let the following parameter restriction hold for any sufficiently small
N:

s 110

In such a case, in decentralized equilibrium in all S.1-8 cases the economy makes a
discrete "jump” to balanced growth path where labor force allocations and growth rates
of knowledge/productivity and final output are given by
N ng 15172[/ —p
NLNE = & N : (42)
§Ig 5 (0—1) (0 +p) +algy 5+ DF
(O =) (o +p) +alsy o] L+ gr—p

NLYE = DF oo 3
’ O@—1)(c+p)+all, ;+DF (43)
_ 1 N
e Z 1= (=D + 1)+ alsaal L+ gy (44)
o (0—1)(0+u) +alk, 4+ D
and
g =(0+mae”, (45)
IN

NE _ EDP AL —p (46)

DT Dot taly, 4+ DY
Proof. See |Proofs Appendix} 0

I use NE superscript for equilibrium labor force allocations and growth rates to
denote the case when there is no entry. Parameter restriction ensures that the
inter-temporal benefit from allocating labor force to R&D outweighs its cost.

If parameter restriction does not hold high-tech firms do not innovate. There-

fore, the economy is static (g» = gy = 0) and the labor force allocations in all S.1-3
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cases are given by

NLNE =0, (47)

NLY® = D*L, (48)
1—0

LYE = NLYE. 49

Y O'bk T ( )

This restriction may not hold for large N if there is no exchange of knowledge amonf
high-tech firms (S.3) since when %, , = 1 the left-hand-side of the inequality tends to
zero as N increases. In case when there is no exchange of knowledge, therefore, if N is
sufficiently large then the economy is on balanced growth path where g, = gy = 0 and
labor force allocations are given by —. In this respect, if parameter restriction
holds for any sufficiently small N > 1 then it always holds in cases when there is an
exchange of knowledge among high-tech firms (S.1-2). This is because when I}, , = N
the left-hand-side of the inequality increases with N.

Without loss of generality, hereafter, I assume that holds for any finite N and
does not hold in case when there is no knowledge exchange among high-tech firms (i.e.,
I¥, , =1)if N is arbitrarily large/infinite (N = +00).

Proposition 2. Let parameter restriction hold. If high-tech firms choose not to
engage in RED then labor force allocations are given by —(@. Moreover, the value
of high-tech firms is higher if none of the high-tech firms engages in RED.

Proof. See |Proots Appendixl n

[ further assume that high-tech firms cannot collude and not innovate (for example,
because of antitrust regulation or non-sustainability of collusion). In this respect, the
reason why in decentralized equilibrium each high-tech firm prefers to engage in R&D
is that R&D reduces its marginal cost. Therefore, ceteris paribus it allows the firm to

lower its price and capture more market.

Social Optimum

The hypothetical Social Planner selects the paths of quantities so that to maximize the
lifetime utility of the household . The Social Planner internalizes all externalities
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and solves the following problem.

+OOCtl*9 1
E?L)iU = / 1feexp(—pt) dt (50)

0
s.t.

€ UJr

C = (erALgc) “IL— N (L, + L), (51)
A=l AL, (52)
A(0) > 0.

The Social Planner’s optimal choices for L, and L, are given by

[L,]: NL, =D (L—-NL,), (53)
) N _ (I1-0)N 1-0
where
psp = I H (55)

=11
and I use S P superscript to make a distinction between the outcomes of Social Planner’s
choice and decentralized equilibrium outcomes. Meanwhile, its returns on knowledge

accumulation are given by
Ay = aap = [&IE oLy + (0 + ) A7HCH (56)

The optimal choice of L, together with labor market clearing condition
implies that

1
NL, = 1+—’uDSPLy. (57)
— 0

This relation is the counterpart of in decentralized equilibrium.

Proposition 3. Let the following parameter restriction hold for any sufficiently small
N:

§DSP—IéV~1*2L > (58)
N P

In such a case, the Social Planner chooses labor force allocations such that the economy,
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where there is "no entry”, makes a discrete jump to balanced growth path, where

IN1—2
yyese— N EDTEEL g (59)
' E1d 5 (0 —1) (0 + p) + DS

(9—1)(0+M)L+¢P

NLNE',SP — SP 7 60
e (0 —1) (0 + )+ D5P (60)
—_ _N
vpsp_ 1= g O=1)(o+u)L+gr—r 1)
Y o+ 1 (0 —1) (0 + p) + D5P

and

R = (04 ) o, ©

N
pSPlsazg
gf\VE,SP _ 3 N ,OSP' (63)
@—1)(c+u)+D
Proof. See |Proots Appendix O

Parameter restriction necessarily holds as long as (41)) holds since DF >
DF. As in decentralized equilibrium, this inequality states that the benefit from R&D
outweighs its cost.

Given that C in (1)) satisfies Inada conditions no corner solutions in terms of N L,

or Ly satisfy the Social Planner’s optimal problem.

Proposition 4. Meanwhile, if @ holds no corner solutions in terms of N L, satisfy
the Social Planner’s optimal problem. In case, however, parameter restriction @

does not hold the Social Planner sets
NL, =0, (64)

and the remaining labor force allocations according to

NLYESP — DSP, (65)
LNE,SP _ ]'__O-DSPL. (66)
Y o+
Proof. See |Proots Appendix O

This parameter restriction does not hold if NV is arbitrarily large/infinite and there
is no knowledge exchange in the economy (S.3). It holds, however, for any NN in cases
when there is an exchange of knowledge (S.1-2) since I have assumed that so does (41]).

I further assume that the Social Planner can choose between S.1-2 and S.3 cases. In

terms of policies implemented by a government in decentralized equilibrium this cor-
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responds to motivating or banning knowledge exchange in the economy@ Clearly, the
Social Planner prefers S.1-2 over S.3 since it could set the same labor force allocations
and have higher economic growth in S.1-2 cases. Therefore, in this sense it is socially

desirable to have knowledge exchange in the economy.

Comparative Statics and Comparisons

Within the decentralized equilibrium outcomes, first, I discuss the case when the num-
ber of high-tech firms N is finite (N < +00). Next, I discuss the limiting case when
the number of high-tech firms is infinite (V. = 400) and, therefore, does not hold
if there is no exchange of knowledge among high-tech firms (S.3). In the end of the
section I compare the decentralized equilibrium allocations and growth rates with the

choice of the Social Planner.

Proposition 5. In all S.1-3 cases the growth rate of knowledge/productivity (g) and
the growth rate of final output (gy ) increase with the elasticity of substitution between
high-tech goods (). Moreover, gy and gy are higher under Bertrand competition which

s tougher than Cournot competition.

Proof. These results follow from —, , , and . n

The driver behind these results are the relative price distortions, which are due
to price setting by high-tech firms. These distortions increase the demand for labor
in final goods production. Increasing the elasticity of substitution or the toughness
of competition reduces these distortions. The reduction of distortions motivates final
goods producers to substitute (a basket of) high-tech goods for labor. Higher demand
for high-tech goods and higher amount of available labor increase the incentives of

high-tech firms to conduct R&D. This increases g, and gy

Corollary 6. In this respect, in all S.1-3 cases NL, and NL, grow and Ly declines

with the elasticity of substitution € and toughness of competition.

Proof. This result follows from —. ]

The comparative statics with respect to the number of high-tech firms in cases when
there is an exchange of knowledge (S.1-2) are different from the case when there is no

exchange of knowledge (S.3). The results are summarized in the following proposition.

Proposition 7. In cases when there is an exchange of knowledge among high-tech firms
(S.1-2), labor force allocations N L, and N L, and growth rates g, and gy increase with
the number of firms N, whereas Ly declines with it. If there is no exchange of knowledge
(S.83), however, this result does not hold if the number of firms is relatively high.

21 An example for such policy/action is the establishment of the Radio Corporation of America (RCA
Corporation) that fostered cross-licensing in the telecommunications industry in the US.
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Proof. These results follow from —. O]

The driver behind the first result is the reduction in relative price distortions (or
the intensification of competition) that the higher number of high-tech firms brings
with it. Meanwhile, the second result holds because increasing the number of high-
tech firms if there is no exchange of knowledge among high-tech firms (S.3) has two
effects. It reduces the relative price distortions and the amount of labor force that can

be devoted to R&D [see Ig% term in ] The first effect motivates higher demand
for NL, and increases gy, whereas the second effect reduces NL, and g,. The second
effect is absent in cases when there is an exchange of knowledge among high-tech firms
(S.1-2) because increasing the number of high-tech firms also increases the amount
of complementary knowledge made available by these firms. Clearly, the result that

these effects exactly offset each other hinges on the functional form assumptions for

knowledge accumulation processes , and @

Proposition 8.

e In cases when there is an exchange of knowledge among high-tech firms (S.1-2)

gx and gy are concave functions of the number of firms N.

e In case when there is no exchange of knowledge (S.3) the derivative of g, as well
as gy, with respect to N is positive when N 1is close to 1 and it is negative for

any N greater than 2.

Proof. These results follow from and that in cases when there is knowledge ex-
change among high-tech firms I}, , = N, whereas I, , = 1 if there is no knowledge

exchange. O]

The first part of this proposition holds because competition intensifies more from
adding a firm if there are few high-tech firms. Meanwhile, the second part holds because
in case when there is no exchange of knowledge (S.3) at the higher levels of market con-
centration/lower levels of competition (/N = 1) the positive effect of higher competition
is dominant. Meanwhile, at the lower levels of market concentration/higher levels of
competition (N > 2) the negative effect of the reduction in the amount of resource for
R&D is dominant. The full characterization of the behavior of gy and gy for N € (1,2)
is not so straightforward, however. This is because of high non-linearity of g, in that

interval. In the neighborhood of N = 1 the growth rate of knowledge/productivity g

220ne way to relax this assumption is to multiply and by a function F (N), where F’ < 0. As
long as f (N) D¥ increases with N the results remain intact. If, however, f (N) D decreases with
N at least for sufficiently large N then the results would become similar to the case when there is no
exchange of knowledge.
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is increasing and concave in N and after a tipping point from (1, 2) it becomes convex

and decreasingﬁ
Proposition 9.

e In all S.1-3 cases labor force allocations NL, and N L, and growth rates g\ and
gy increase with o, whereas Ly declines with it. In contrast, gx and N L, decline

with p and gy, NL,, and Ly increase with it.

e [n cases when there are knowledge spillovers/externalities (S.2-3) NL,, g and

gy decline with o, whereas N L, and Ly increase with it.
Proof. These results follow from —. m

The first result holds because higher o increases the marginal product of high-
tech goods bundle X and reduces the marginal product of labor force employed in
final goods production Ly. Therefore, the demand for Ly declines and labor force
allocations NL, and N L, increase. According to and this implies that g,
and the growth rate of final output gy increase with o. In contrast, higher p does not
affect the balance between the demand for X and Ly and in this sense does not alter
the production and R&D incentives of high-tech firms. Meanwhile, ceteris paribus
it increases the growth rate of final output gy and equilibrium interest rate r [see
()], which discourages investments in R&D. Lower N L, implies lower growth rate of
knowledge/productivity g,. Finally, the second part of this proposition holds because in
case there are knowledge spillovers/externalities as « increases the internalized returns
on R&D decline and firms invest less in R&D. Therefore, more labor force is allocated
to production activities, and g, and gy decline.

In order to preserve space, hereafter, unless stated otherwise, I exclusively discuss
the results for the growth rate of knowledge/productivity g, while keeping in mind
that the growth rate of final output gy is proportional to it.

Corollary 10. If the number of high-tech firms is arbitrarily large/infinite

e when there is an exchange of knowledge among high-tech firms (S.1-2) labor force
allocations and growth rate gy are given by (@—, and (@) where

pt=p=2E"D,
e—0o

23This result implies that in case when there is no exchange of knowledge among high-tech firms (S.3)
there is an ”inverted-U” shape relationship between g and the number of firms N. A similar result
can be obtained also in cases when there is an exchange of knowledge among high-tech firms (S.1-2)
assuming fixed management costs as in [van de Klundert and Smulders| (1997) or that and
increase less than linearly with N.
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e when there is no exchange of knowledge among high-tech firms (S.3) gx = 0 and
labor force allocations are given by —(@) where D¥ = D.

The first part of this corollary implies that when there is an exchange of knowledge
among high-tech firms and N = 400 neither labor force allocations nor the growth rate
of knowledge depend on the type of competition and the number of high-tech firms.
It implies also that the remaining comparative statics stay intact in these cases. The
second part of the corollary holds because when there is no exchange of knowledge
among high-tech firms and N = 400 parameter restriction does not hold. It can
be shown that in this case, N L, increases and Ly declines with ¢ and € and both NL,

and Ly do not depend on the type of competition and parameters o and p.

Corollary 11. For both finite and infinite number of high-tech firms the comparison

between S.1-3 cases yields the following relationships.

NLq{VE’S'l > NLiVE,S.Q > NLiVE,SB)
NL;VE,S.I < NL;VE’S'Q < NL;VE’SB,

NE,S.1 NE,S.2 NE,S.3
Ly < Ly < Ly

NE,S.1 NE,S.2 NE,S.3
gy > gy > gy . (67)

’

This means that in decentralized equilibrium with no entry high-tech firms innovate
the most in case when there is knowledge licensing (S.1). High-tech firms innovate the
least if there is no exchange of knowledge among these firms (S.3). Therefore, for a
given N the growth rate of final output is the highest in case when there is knowledge
licensing and the lowest in case when there is no exchange of knowledge among high-
tech firms.

In order to further highlight the contrast between all knowledge accumulation/R&D
setups (S.1-3) Figureplots gy for parameter values 6 =4, p = 0.01, 0 = 0.3, 4 = 0.01,
e=4,L=1&¢=1,and a = 0.1 and Cournot and Bertrand types of competition@

Comparisons Between Decentralized Equilibrium and Socially Optimal Re-
sults: Different types of competitive pressure matter for these decentralized equilib-

rium outcomes because of market interactions among high-tech firms. They do not
matter, however, for the outcomes of the Social Planner’s problem —.

Corollary 12. In contrast to the decentralized equilibrium results NLSY, NL5F gy, and

gy increase with p and LyF declines with this parameter.

Proof. This result follows from —. n

24The parameter values were selected so that the growth rate of final output has a reasonable value.
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Figure 1: The Growth Rate of Productivity in S.1-3 Cases
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This result holds because the Social Planner internalizes p and higher p implies

higher marginal product of X.

Corollary 13. For both finite and infinite N the comparison between decentralized
equilibrium growth rates and allocations and socially optimal growth rates and alloca-

tions yields the following relationships.

NE,SP,S.1-2 NE,S.1
NL, > NL,

NE,SP,S.1-2 < NE,S.3
NL, = NL, ,

)

9

NE,SP,S.1-2 < NE,S.2
NL, = NL;

NE,SP,S.1-2 NE,S.1
NL; > NL, ,

NE,SP,S.1-2 NE,S.1
LANESE <LY >

Y
and
NE,SP,S.1-2 NE,S.1
gx > gy )
where = indicates that the relation depends on model parameters.

>

This means that in decentralized equilibrium the economy innovates less than it is
socially optimal and therefore grows at a lower rate. Moreover, in decentralized equi-
librium it fails to have socially optimal labor force allocations. The driver behind these
results are the relative price distortions and externalities. Due to these distortions final

goods producers substitute labor for high-tech goods which lowers the output of high-
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tech firms and the number of researchers that high-tech firms hire. The externalities
in R&D have an effect of similar direction. If such externalities are present then high-
tech firms do not fully internalize the returns on R&D. This reduces their incentives
to invest in R&D and they hire lower number of researchers. Meanwhile, externalities
in final goods production increase interest rate r. Since high-tech firms do not take
into account these externalities they invest less than it is socially optimal. Final goods
producers also do not take into account these externalities. Therefore, they demand
less than socially optimal amount of high-tech goods.

The differences between socially optimal and decentralized equilibrium growth rates
and labor force allocations in terms of the relative price distortions and externalities
in final goods production are summarized by D* and D" It is easy to notice that for
sufficiently high N

lim D’ = lim D*.
pn—0 e—+o00

This equality holds because for sufficiently high N the limiting case ¢ = +o00 would
imply perfect competition in the high-tech industry. In such a limiting case, however,
in decentralized equilibrium high-tech firms make zero profits and have no market
incentives to innovate.

In this respect, if there are no subsidies that keep the profits of high-tech firms non-
negative, the positive relationship between innovation and e holds as long as high-tech
firms have sufficient profits to cover the costs of R&D. Profits of high-tech firms and ¢
are inversely related. Once profits net of R&D expenditures are equal to zero increasing
¢ reduces innovation to zero. Therefore, if there are no subsidies the relationship
between intensity of product market competition (¢) and innovation has an ”inverted-
U” shape. Such a relation is consistent with Schumpeter’s argument that firms need to
be sufficiently big in order to innovate. Moreover, it is in line with the empirical findings

of |Aghion et al.| (2005) and provides an alternative explanation for those findings.

Entry Regime 2: Cost-free Entry

In this section I endogenize the number of firms assuming that entry cost is zero.

Decentralized Equilibrium

From (18), and it follows that the profits of a high-tech firm are

T =wl, —
k=1 r—g, — (1 — O‘]é*.Q—s) g
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Given that entry cost is zero the condition that endogenizes the number of high-tech
firms is 7 = 0.

Denote

1
7= - N . (68)

ek —1 r—g, — (1 — a[§.2_3) N

Therefore,
T=0&7=0. (69)

Proposition 14. At time 0 (t = 0) N makes a discrete jump to the balanced growth

path equilibrium level.

Proof. See |Proots Appendix O

This implies that in decentralized equilibrium with cost-free entry the economy is

on a balanced growth path (for any ¢t > 0), where

Therefore, labor force allocations and growth rate of knowledge/productivity are given
by — and , where the number of high-tech firms NV is endogenous.

In turn, N can derived from the zero profit condition and g, that solves the
capital market equilibrium (46). The growth rate of productivity g, that solves the
zero profit condition is

o P
D= T all, (-t (70)

Let
e—1l—a—-(0—-1)(c+p) >0,

which implies that g, can be positive for sufficiently large N or, equivalently, there can
exist decentralized equilibrium where high-tech firms innovate.

Hereafter, I call g, from Z P — zero profit, and g, from CME — capital
market equilibrium. If @ > 0 and/or § > 1 the number of high-tech firms N that

satisfies
" —1—a—-0—-1)(c+p =0

is strictly greater than 1. Denote it by N*. For N € (1, N*) it can be shown that gy
in or Z P is negative, decreasing, and convex function of N and

lim g\, = —o0.
N—N*—

Meanwhile for N > N* it can be shown that ZP is positive, decreasing, and convex
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function of N and

lim gy = 4o0.
N—N*4

Proposition 15. In decentralized equilibrium with endogenous entry it cannot happen

so that N € (1, N*).

Proof. This is because for N € (1, N*) high-tech firms do not innovate, which implies
that the profit of each firm is

1
=wlL,—— > 0.
T=w ek —1

Therefore, there will be entry that will increase the number of high-tech firms above
N*. O

Both CM FE and ZP are continuous functions of N for N > N*, the values of CM E
are finite for any N > 1, and ZP is arbitrarily large around N*. Therefore, at least for
N sufficiently close to N* it has to be the case that ZP is higher CM E. This means
that there exists decentralized equilibrium where high-tech firms innovate.

It ZP crosses CME from above then the decentralized equilibrium determined by
the intersection is stable in the sense that the entry of firms reduces 7 in and exit
increases it. The number of firms and the growth rate of productivity can be solved
from the intersection of CM E and ZP in such a case. Moreover, if at time 0 (t = 0)
the number of high-tech firms is higher than (and in S.3 case sufficiently close to) the
number determined by the intersection of Z P and C'M E then high-tech firms will exit
the market till ZP and C' M E are equal. Considering such a setup, or exit of high-tech
firms instead of entry, can support the zero entry costs assumption.

In order to have meaningful equilibrium in each of S.1-3 cases [i.e., holds] 1
further assume that the parameters are such that there exists N** where ZP crosses
CME under Cournot competition in case when there is no exchange of knowledge
(S.3). Given that shifts up and shifts down with the elasticity of substitution
¢ this can be equivalent to assuming that the elasticity of substitution e is sufficiently
high. It implies that ZP crosses C M E in all the remaining S.1-3 cases.@

The previous section showed that if there is an exchange of knowledge (S.1-2) the
growth rate of knowledge g, from , or C'M F, is monotonically increasing function
of N.

Corollary 16. In cases when there is an exchange of knowledge among high-tech firms
(S.1-2) Z P crosses CME from above and the number of high-tech firms under Bertrand

23van de Klundert and Smulders| (1997) offers a model which resembles the case when there is no
exchange of knowledge among high-tech firms (S.3). The authors assume parameter values such that
Z P crosses CMFE from above. Clearly, such a set of parameter values is restrictive for cases when
there is an exchange of knowledge among high-tech firms (S.1-2).
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and Cournot types of competition can be found from

E_ §oL [1 + Odé‘a—:a +(0—1) (0 + N)}
B EoL—p ’

e

where k = CR, BR and € and e° are given by and .

If there is no exchange of knowledge (S.3), however, CMFE is not a monotonic
function for all N. It is monotonically increasing function in the neighborhood of
N =1 and monotonically decreasing after some N € (1,2). Moreover, it is continuous
and finite for any N and negative for N =1 and N = +o0o. Therefore, given that ZP
is a monotonically decreasing function and it is positive for any N, ZP crosses CM E

at least twice.

Corollary 17. If there is no exchange of knowledge among high-tech firms then the

number of firms under Bertrand and Cournot types of competition can be found from

ek_ch%L[l%—a—i—(Q—l)(a—i—,u)]
B EoxL—p

. (72)

It is straightforward to show that is a quadratic equation in /N. This means in
case there is no exchange of knowledge among high-tech firms (S.3) ZP crosses CME
twice. It does so from above and from below. The smaller root of corresponds
to the stable equilibrium where ZP crosses C M E from above. Meanwhile, the bigger
root corresponds to the case when ZP crosses C'M E from below and the equilibrium
is not stable. Denote it by N;*. If the economy starts with a number of firms greater
or equal to NJ* then 7 does not decline to zero as N increases. In order to rule this
out I further assume that the economy starts with a number of high-tech firms that is
lower than N;*. Therefore, depending on whether Z P is higher or lower than CM E,
firms exit or enter till (the point where) ZP crosses CME from above[|

Social Optimum

In this case the hypothetical Social Planner solves the optimal problem ({50]) and chooses
N.
The Social Planner’s optimal choice for N in case when there is an exchange of

knowledge (S.1-2) is given by

[ ]'U—F/LCl_g
"e—1 N

>0

26The functional forms of knowledge accumulation process in cases when there is an exchange of knowl-
edge among high-tech firms (S.1-2) help to avoid this assumption.
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or simply
N = +o0, (73)

whereas if there is no exchange of knowledge (S.3) it is given by

g

(V] : J_rf C 0 > ML, (74)

€
The former result holds because if there is an exchange of knowledge then
I¥, 5, = N and the Social Planner has no trade-offs while increasing N m In contrast,
if there is no exchange of knowledge then I, , = 1 and it has a trade-off. Higher N
implies lower growth rate.
In order to be able to solve the optimal control problem in cases when there is an
exchange of knowledge (I, _, = N) with first order conditions C' needs to be rescaled
by N so that at time zero C' < 400 (i.e., C' needs to be divided to N%).

Proposition 18. The Social Planner selects labor force allocations and N such that

the economy makes a discrete jump to balanced growth path.

o [f there is an exchange of knowledge, on this path labor force allocations and

growth rate of knowledge gy are given by (@)— and @ and N = +00.

o [f there no exchange of knowledge and s binding then

Elo+me—1—(0-1)(c+p)

p e(l+p)—(1-o0)
CFE,SP,S.3 _ 4
A Ce—1-0—-1)(c+p) (76)

N =

L (75)

where CFE stands for cost-free entry.

Proof. See |Proots Appendix| m

If there is no exchange of knowledge and ([74]) is binding labor force allocations can
be derived from , , , and , where the expression is the counterpart
of ZP (70) with N = 400 and a = 0.

Comparing the lifetime utility of the household it can be shown, however, that
the Social Planner prefers to set N = 400 also in case when there is no exchange of
knowledge. Therefore, does not bind. The following proposition summarizes this

result.

2"In cases when there is an exchange of knowledge (S.1-2) the Social Planner selects at time zero
N = +00 because of the assumption that firm entry or creating high-tech goods entails no costs. If
there were costs associated with entry (or costs associated with maintaining the goods/firms as in
van de Klundert and Smulders| [1997)) the Social Planner might not select at time zero (or at any
time) N = +o00.
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Proposition 19. In case when there is no exchange of knowledge the Social Planner

sets
N - +OO,
)(\JFE,SP,S.?; — NLCFESPS3 _ () (77)
NCFESPS3 _ psPp (78)
[OFRSPSS _ =0 yspy (79)
o+ pu
Proof. See |Proofs Appendix| -

As it was shown in the Social optimum section of Entry Regime 1 this implies that
the Social Planner prefers the case when there is an exchange of knowledge (S.1-2) over
the case when there is no exchange of knowledge (S.3). This result is not stemming from
the cost-free entry assumption. Even if there were fixed costs associated with entry
the Social Planner could set the number of firms in case when there is an exchange
of knowledge (S.1-2) equal to the number of firms it finds optimal in case when there
is no exchange of knowledge (S.3). In such a circumstance according to (63)) it would

have higher growth rate and, therefore, welfare in case when there is an exchange of
knowledge (S.1-2).
Comparative Statics and Comparisons

The following proposition establishes the comparative statics results for the number of
high-tech firms.

Proposition 20.

e In all S.1-3 cases, there are fewer high-tech firms in equilibrium under Bertrand
competition than under Cournot competition. Further, the number of firms de-

clines with € and increases with p.

e In cases when there are knowledge spillovers/externalities (S.2-3) the number in-

creases with a.. It does not depend on a in case when there is knowledge licensing

(5.1).

Proof. See |Proots Appendix O

The number of firms declines with toughness of competition and e since tougher
competition and higher ¢ imply lower mark-ups, which reduces 7 for a given .
In turn, it increases with g since higher p implies lower R&D investments (fixed

costs), which increases 7 for a given N. Higher a in cases when there are knowledge
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spillovers/externalities (S.2-3) also implies lower R&D investments. The comparative

statics with respect o depend on model parameters.

Proposition 21. In cases when there is an exchange of knowledge among high-tech

firms

e g, and labor force allocations do not depend on the type of competition, €, and
N.

e g\ and NL, decrease with o and pu, NL, increases with these parameters, and

gy declines with o but increases with p.

Proof. The first part of the proposition holds because in cases when there is an exchange
of knowledge €* in does not depend on the type of competition, €, and N. See
[Proofs Appendix] for the second part of the proposition. O

The analytical derivations for comparative statics with respect to ¢ and for labor
force allocation to final goods production Ly are not trivial. Numerical simulations
where L is normalized to 1 and the remaining parameters are from the following inter-

vals

0 €[1,10],p € [0.01,0.1], o € [0.01,0.99] , (80)
€ 10.01,0.99], ¢ € [0.1,10], a € [0.01,0.99] ,

show that:where + means positive relationship, — negative, and =+ that the relationship

Table 1: Numerical Comparative Statics for S.1-2 Cases

gx NLT' NL:L" LY gy

o +  + + -+
% - - + + +
o - - + +*= -

Note: This table offers numerical comparative statics for the cases when there is an exchange of knowledge among
high-tech firms (S.1-2). The values of parameters are from intervals and satisfy parameter restrictions. Grids are
equally spaced and each has 5 points.

depends on model parameters.

If there is no exchange of knowledge among high-tech firms (S.3) it is not straight-
forward to derive the relationship between the toughness of competition and growth
rate of productivity g,. This is because of high non-linearity of CME in this case.
Nevertheless, it is possible to show that if ZP crosses C' M E from above in the region

of N where C'M E is monotonically increasing then the growth rate of productivity g, is
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higher under Bertrand competition. The comparison of the labor allocations using an-
alytical techniques also is not trivial. Numerical simulations show that under Cournot
competition gy, NL, are lower and N L, is higher than under Bertrand competition.
Meanwhile, depending on model parameters Ly can be both higher and lower.

The analytical derivation of comparative statics for labor force allocations and
growth rates of final output and knowledge with respect to parameters ¢, o, p, and
« also are not trivial in case when there is no knowledge exchange among high-tech

firms. Numerical simulations show that:

Table 2: Numerical Comparative Statics for S.3 Case

‘ gx NL’!‘ NLLL‘ Ly gy
e [+ + - £ +
o + =+ + + =+
Pl £ o+ £ %
Q - = + + -

Note: This table offers numerical comparative statics for the cases when there is no exchange of knowledge among
high-tech firms (S.3). The values of parameters are from intervals and satisfy parameter restrictions. Grids are
equally spaced and each has 5 points.

The following proposition summarizes the comparisons among different settings for
R&D process.

Proposition 22. The growth rate of knowledge/productivity g is higher in case when
there is knowledge licensing (S.1) compared to the case when there are knowledge
spillovers among high-tech firms (S.2). Moreover, it is higher in case when there are
knowledge spillovers among high-tech firms (S.2) compared to the case when there is

no exchange of knowledge (S.3), i.e.,

gCFE,S.l CFE,S.2 CFE,S.3
A .

Proof. The first inequality follows from that g, declines with «. In turn, the second
inequality follows from given that ZP is monotonically decreasing function of N
and C'M E in cases there is an exchange of knowledge (S.1-2) is monotonically increasing
function of N. H

Given that R&D investments are fixed costs, this implies that there are more high-
tech firms in case when there are knowledge spillovers among these firms (S.2) than in
case when there is knowledge licensing (S.1). Moreover, there are more high-tech firms
in case when there is no exchange of knowledge among these firms (S.3) compared to

the case when there are knowledge spillovers (S.2), i.e.,

NCFES3 o NCFES2 o NCFE,S.1
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The differences between labor force allocations in cases there is an exchange of knowl-
edge (S.1-2) and there is no exchange of knowledge (S.3) depend on model parameters.

These results indicate that high-tech firms innovate more in cases when there is an
exchange of knowledge compared to the case when there is none. Moreover, these firms
innovate more in case when there is knowledge licensing compared to the case there
are knowledge spillovers/externalities. Meanwhile, using —, , —, and
(63)) it can be shown that in all S.1-3 cases in decentralized equilibrium with cost-free
(endogenous) entry into the high-tech industry the economy invests in R&D less than
it is socially optimal. Therefore, it grows at a lower than socially optimal rate. Further,

it fails to have socially optimal number of high-tech firms.

Policies leading to the first best outcome in decentralized equi-
librium

In this section I offer policies that if implemented in decentralized equilibrium lead to
the first best outcome. I assume that there is knowledge licensing in decentralized equi-
librium. This can amount to assuming that the government has motivated knowledge
exchange among high-tech firms that happens in a market where the licensors have the
right to make a ‘take it or leave it” offer (i.e., they have the bargaining power). In this
respect, such an action is one of the necessary policy instruments for increasing welfare
in decentralized equilibrium ]

I assume that the set of policy instruments includes marginal taxes on or subsidies
to purchases of high-tech goods (7,,) and high-tech firms’ expenditures on buying knowl-
edge (7). It also includes lump-sum transfers to high-tech firms (7;) and households
(T'). The latter balances government expenditures.

Under such a policy from the final goods producer’s problem it follows that and

@D need to be rewritten as

Px T
(1 - Tx)pxj ’

N
=1

2

$]:X|:

28This is because in case when there is no exchange of knowledge among high-tech firms there is no
set of (orthodox) policy instruments in terms of welfare transfers which in decentralized equilibrium
equates labor force allocations and growth rate of knowledge to their socially optimal counterparts.
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In turn, the profit function of high-tech firm j is

Tj = Payly — W (ij + LTJ)

N N
| 2 Puan (W) — (L=7a) D2 Pugn (wighi) | + T

i=1,i#j i=1,i#j]

Therefore, the demand for knowledge of the high-tech firm needs to be rewritten

as

[ui,j] : (1 - T)\)pui,]’)\i = q)\jga (U ])\> Lrja Vi 7& J
1,57\

Considering symmetric equilibrium and combining these optimal rules with @, ,
and labor market clearing condition gives the counterparts of the relation
between N L, and Ly , returns on knowledge accumulation , and the relation
between NL, and NL, (37):

NL, = b Ly, 81
l—7m1—-0 Y (81)
L, N-—-1 71
qu:T—g)\<L—+1+OZ N 1_)\7_)\), (82)
NL,= D% (L—-NL,), (83)

and [ use GO to denote decentralized equilibrium with government.

Proposition 23. Let the marginal tax rates be constant. In such a case, labor force

allocations and the growth rate of knowledge gy are

1 DEOL —
NL, = 7 S < N—1 )
§(0—1) (0 +p) + DY — a8
vi _ pool@= D@t — ol | Lt Ly
v (0 —1) (0 +p) + DGO — o8 12
N 1-—7y
l—0o
LY = (]_ — Tz> WNL$,
gr = SNLT‘
Proof. See |Proots Appendix| m

Therefore, in order to have socially optimal growth rate and allocations it is suffi-
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cient to have

NL.=NL?” NL,= NL".

To achieve such an outcome it is sufficient to subsidize the purchases of high-tech goods,

™ =0, (84)

Ty = ———— (85)

where 7, equates DY to D3F. It is enough to subsidize the demand for high-tech
goods because the returns on knowledge accumulation are fully appropriatedﬂ
Although under this policy labor force allocations and growth rate of knowledge
in decentralized equilibrium are equal to their socially optimal counterparts, welfare is
not. This is because in decentralized equilibrium there is lower number of high-tech
firms/goods. The policy instrument that can correct for this is Ty. It is straightforward

to show that it is sufficient to set
T7r - wLZETﬂ'7 (86)

where 7, is such that for any finite NV the profits of high-tech firms are greater than

zero, but for N = +oo profits are zero.

Corollary 24. The rate 7, can be derived from a zero profit condition and is given by

e—1+ D5F
. (1)
(e—=1)[(0—1) (0 + p)EDSPL + DSP]
co1-(0-1)(o+n), s
e — 1+ DSP D7 L=p)
Proof. See |Proots Appendix O

The expression in the second line of 7, needs to be positive in order to have N > 1
in (75)). Therefore, 7, is greater than zero implying that entry into high-tech industry
needs to be subsidized. Such subsidies are in the spirit of R&D subsidies in [Romer
(1990) model to the extent that entry can be thought to be a result of R&D that
generates new types of high-tech goods.ﬂ

29Appendix E.6 offers a policy which instead of subsidizing the purchases of high-tech goods subsidizes
the production and R&D expenditures of high-tech firms. It shows that the subsidy rates to these
expenditures should be equal in order to have first best allocations and growth rates. This is because
in a high-tech firm the allocations of labor to production and R&D are affected by relative price
distortions equally.

3 shows how 7, can be used together with 7, in case when high-tech firms do not take
the price of knowledge as exogenous. If 7, # 0 then subsidy rate 7, is not given by .
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The result that 7, is greater than zero is not stemming from the cost-free entry
assumption. Next section shows that even if entry into the high-tech industry entailed
positive costs then still it could be that at least in very long-run the Social Planner sets
N = +00 whereas in decentralized equilibrium the market is saturated for N < 4oc.
The Social Planner can prefer having N = +o0o because as A grows the marginal

product of N increases.

Entry Regime 3: Costly Entry

In this section I assume that entry into the high-tech industry entails endogenous costs.
I focus on the cases when there is an exchange of knowledge among high-tech firms.
Further, I do not assume that parameters are such that C'M E necessarily crosses ZP.
This restriction can be lifted since in case when entry entails endogenous costs positive

profits can be allowed.

Firm Entry

In order to enter into the high-tech industry and to generate its distinct type of high-
tech good, the potential producer has to invest. The investment is in terms of final
goods. The entrant should borrow the resources for the investment from the household
at the market interest rate r.

The creation of the distinct type of high-tech good is given by
N =nS, n>0, (88)

where N is the new high-tech good created by the investment S and 7 is the efficiency
of investments.

The entrants are assumed to break-even on a zero net-value constraint,
VN =25 (89)

From this expression, , @, , @, , , and Hamilton-Jacobi-Bellman equa-
tion V = rV — 7 it follows that for 1 € (0, +00)

Y=C+S8, (90)

given that the assets in this economy are the high-tech firms (A4 = V. N). Meanwhile,
in terms of previously analyzed cases of entry, n = 0 in corresponds to the case
when there are exogenous barriers to entry. In such a case does not bind. The

limiting case 1 = +o00 corresponds to cost-free endogenous entry. In such a case any
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infinitesimally small investment leads to entry. Given that this investment is a cost,
the entrants would select to invest 0 and enter. Therefore, in both limiting cases n = 0
and 17 = +00 holds.

Hereafter, I assume that 7 is a small number (n &~ 0). Such a restriction allows to

have no transition in the hypothetical Social Planner’s solution.

Decentralized Equilibrium

It is instructive to derive the profit function of a high-tech firm first. As in case when
entry entails no cost it can be written as

T =wl,T,

where

1
7= - I , k=CR,BR, (91)

et —1 r—= (gw - I]%ZOQN>

and

N=0

o :{ 1 for N #0,

0 otherwise.

Corollary 25. 7 in is monotonically decreasing function of N.

Proof. See |Proots Appendix n

The competition intensifies with the number of firms N. When strategic interactions
in the product market are non-negligible, the intensity of competition and profits are
related negatively. The negative relation between N and 7 reflects exactly this point.

Hereafter, I focus only on the balanced growth path analysis. Depending on the
household’s preferences, final goods production technology and the high-tech firm’s
knowledge accumulation process, there are two cases when the economy grows at con-
stant rates. In the first case there are so many high-tech firms that the new entrant’s
impact on others’ demand is negligible. Whereas in the second case, the next entrant
will have negative profit streams (i.e., there are endogenous barriers to entry)ﬂ

In the first case, the counterpart of CM E in (46]) is always lower than the counter-
part of ZP in (70). On the balanced growth path there are infinitely many high-tech
firms and there is permanent entry (N = +o00, N > 0).

31This ordering is possible given that 7 in is negatively related to the number of firms and the
investments in knowledge accumulation are fixed costs.
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Proposition 26. The growth rates of final output and knowledge are

9vF = Bg{",

DL —
oCF = DL=p (92)

(0 -1+ I%:O) B+ali, +D

where I use superscript CE - costly entry - in order to distinguish the outcomes of this

setup and
_ (c=D(o+p)
e—1-1%_ (0+p)

Proof. See |Proofs Appendix| n

Labor force allocations in this case can be derived from , , and . In the
denominator of g{* [2/:0 captures the effect of continuous entry into the high-
tech industry on innovation incentives of high-tech firms. Continuous entry erodes the
returns on innovation. Ceteris paribus this leads to lower investments in R&D.

In the second case, let N** (< +00) be the last high-tech firm that will have non-
negative profit streams if it enters. There is no entry after N** (i.e., N = 0) because for
any N > N** the value V' would be negative@ When there is no entry, the economy
is on a balanced growth path; therefore, N** is determined from the intersection of
CME and ZP curves. In such a case, labor force allocations, growth rates and the
number of firms under different types of competition can be obtained from —

and ()

Social Optimum

The hypothetical Social Planner’s problem is given by — and . I assume
that the Social Planner can make negative investments in the high-tech industry (i.e.,
in N) and 7 is close to zero. These assumptions allow to have no transition in the

social optimum.

Proposition 27. The socially optimal growth rates of final output and knowledge are

32Gtrictly speaking, the firm that has zero profits invests zero; therefore, according to , it also
does not enter. Therefore, N** is an upper bound for the number of firms in the high-tech industry.
However, since 7 in is a continuous function of the number of firms, N** is exactly the number
of firms in high-tech industry.

33In case when there is no exchange of knowledge and the counterpart of ZP crosses the counterpart of
CME from above at finite NV then the balanced growth path properties of the model are summarized
in the section Entry Regime 2. However, in case when ZP does not cross CM E on balanced growth
the economy needs to be static in case B is finite and positive.
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given by

gy = BSgTEET, (93)
gCE,SP _ EDSPL — P (94)
A (0 — 1) BS + DSP’
where
por_ E=D(o+p)
e—1—(oc+p)
Proof. See |Proots Appendix n

The socially optimal labor force allocations can be found from

1
NLgE,SP — DS (L - NLS'E,SP) 7

E,SP
LyP%F = L — NLSPSP — NLOESP,

Corollary 28. There is permanent entry in the social optimum.

The permanent entry result is due to the absence of market incentives in the social
optimum. It stands in contrast to the decentralized equilibrium result where it may be
the case that there are endogenous barriers to entry. It holds because the accumulation

of knowledge (R&D) increases the marginal product of N.

Comparisons and Policy Inference

It is straightforward to show that in both cases when there are endogenous barriers to
entry in decentralized equilibrium (N = 0) and there are no barriers to entry (N > 0)
the following relationships hold:
CE,SP CE,S.1 CE,S.2
9y > gy > gy .
Further, similar to the previous sections, it is straightforward to show that in both
cases when N = 0 and N > 0 in decentralized equilibrium the economy fails to have
socially optimal labor force allocations. From and it also follows that in the

social optimum the growth rate of final output is higher if there is continuous entry

compared to the case when there is no continuous entry.

Corollary 29. If there is continuous entry into the high-tech industry (N > 0) and

knowledge licensing among high-tech firms, then the following policy delivers socially
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optimal allocations and growth rates as a decentralized equilibrium outcome.

e"u+o
Te = )
e (o + p)
N 1
- — Nl
T+ 215
Proof. See |Proots Appendix O

In this policy 7, is the same as in and subsidizes the purchases of final goods.
In contrast, 7, in this policy is greater than zero which means that this policy subsidizes
also knowledge licensing. It does so in order to motivate R&D in the high-tech industry
and alleviate the negative effect of continuous entry on innovation incentives of high-
tech firms.

Continuous entry, in turn, can be guaranteed with lump-sum transfers to high-tech
firms which make the profits of these firms marginally greater than zero for any
N.

4 Conclusions

The model presented in this paper incorporates knowledge (patent) licensing into a
stylized endogenous growth framework, where the engine of growth is high-tech firms’
in-house R&D. The inference from this model suggests that if there is knowledge li-
censing high-tech firms innovate more and economic growth is higher than in cases
when there are knowledge spillovers and/or there is no knowledge exchange among
these firms. The results also suggest that innovation in the high-tech industry and
economic growth increase with the intensity and toughness of competition in that in-
dustry. Such an inference holds also for the number of high-tech firms if there is an
exchange of knowledge among these firms in the form of licensing or spillovers. Increas-
ing the number of high-tech firms increases innovation in the high-tech industry and
the growth rate of the economy. However, if there is no exchange of knowledge among
high-tech firms, then increasing the number of firms can also discourage innovation in
the high-tech industry and reduce economic growth.

Innovation in the high-tech industry declines with the magnitude of externalities
which stem from the use of high-tech goods. However, the rate of economic growth
increases with it. Further, the existence of such externalities creates a wedge between
resource allocations in decentralized equilibrium and socially optimal allocations. In
this model, this implies that the existence of externalities also creates a wedge between

growth rates in decentralized equilibrium and the socially optimal growth rate.
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If entry (or exit) is endogenous and entails no costs, innovation in the high-tech
industry and economic growth are again higher in case when there is knowledge li-
censing. However, this happens at the expense of lower number of high-tech firms.
More intensive and/or tougher competition reduce the number of high-tech firms. If
there is an exchange of knowledge among these firms the intensity and toughness of
competition do not affect, however, allocations, innovation in the high-tech industry,
and economic growth. In contrast, allocations change and innovation and economic
growth tend to increase with the intensity and toughness of competition if there is no
exchange of knowledge among high-tech firms.

If entry entails no costs a policy consisting of four instruments can be sufficient
for achieving the first best outcome in decentralized equilibrium. The policy gives the
bargaining power in the market for knowledge to the licensors so that they appropriate
all the benefit. Further, it subsidizes the purchases of high-tech goods so that it
offsets the negative effect of price setting by high-tech firms and takes into account
the externalities from the use of high-tech goods. Finally, it subsidizes entry into the
high-tech industry and uses lump-sum taxes to cover all these subsidies.

Meanwhile, if entry entails endogenous costs then in the social optimum there is
continuous entry into the high-tech industry. In decentralized equilibrium continuous
entry erodes the returns on innovation and therefore reduces R&D effort of high-tech
firms. In order to alleviate this effect and achieve first best outcomes in decentralized

equilibrium the policy also subsidizes knowledge licensing.
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Appendix

Proofs Appendix

Proof of Proposition The growth rates of quantities and prices that characterize
the essential dynamics of this model can be obtained from —@D, , , and .

These growth rates are

1
9025(7”—/?)7 (95)
gy = (U+N)9X+(1_U>9LY> (96>
€
- ) 97
gx o= 19N +g (97)
9z = gr + 9L, (99)
Juw = Gq T 9N + Gx- (100)

Combining (B1) with (%), (). €0). B2, (). €. (@, and @F)-{00) gives a

differential equation in L,
L—NL,

L= N =171 (101)

N
X { [(0—1) (0 +p) +alyy g+ DF| €15, L, — <§D’“%L — p> } ,

for all S.1-3 cases.

Let parameter restriction hold. The first term of the differential equation
(101) is non-negative. Without that term, the characteristic root of the differential
, gLL: > (. This, together with neoclassical production function
of final goods , implies that there is a unique L, such that is stable and

NL.,NL,,Ly € (0,L),

equation is positive

N
1 Dk IS.172L _
P D" L . (102)
§lgy o (0 —1) (0 +p)+alg, 5+ DF
Combining this expression with the relations between N L, and Ly and NL,
and NL, gives the equilibrium allocations of labor force —. Given that

allocations of labor force are constant from , , and it follows that

g’ =gt = 90" = (0 +p) gx",

NE _ NE _ _NE
I9x =9 = 9Ixn
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where g, is given by ,

Iy,
gNE: ngsNzL_p
! (0 —1) (0 +p) +alyy 5+ DF

Therefore, in decentralized equilibrium with no entry if holds the economy

makes a discrete ”jump” to balanced growth path in all S.1-3 cases.

Proof of Proposition The value of a high-tech firm if high-tech firms innovate
ie., NL,. € (0,L)] is

VNLe(O.L) _ 1
O—1)(c+ugr+p

m(t) exp [= (0 + ) gat],

where I have dropped the superscript NE and 7 () can be derived from , , ,

@, @1, ). {9, E2) and @),

1 1 otp o1
7 (t) = ~° <Ns—1 A (0) NLx> Ly % €XP [(o + ) gat]

k_ Dklé\f#L_
_6 1 6 N P

X {1 k
DY 10 =1) (0 +p) +all, 4] €

N
IS

;,‘QLer

In turn, if none of the high-tech firms innovates then the economy is static (gy =

gx = 0) and each high-tech firm’s profits and value are given by

1 e otp 1
T=5° (stl A (0) Lx) Ly ot
1

VNL,«ZO _ NO_ 1

c otp 1

N=1A(0 Lx> o=,

(N2(0) VO
It can be easily shown that

NL,.€(0,L NL,=0
Y NLEOL) v/ ,

which means that the value of any high-tech firm is higher if none of the high-tech
firms engages in R&D.

Proof of Proposition Using , the expression for the returns on knowledge

accumulation (56)) can be rewritten as

l—0o_  y SP[é'\.flfQ
G =P — 1+M£]S'1_2LT+§D TL . (103)
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Meanwhile, from — and it follows that

NL,
_ 104
ng gLY L o NLT ? ( )
gc = (o + ) (9 +9c.) + (1 = o) gr., (105)
gr = &Ig1 Ly, (106)
9o = =9 — 91, — (0 — 1) gc- (107)
Combining ((103)-(107) gives a differential equation in L,
. L—NL,
L, = (108)

N[0 —1)(1+p)+1]

X { (60— 1) (0 +p)+ D] ¢IE, L, — (fDSP%L — p> } .

oL,
oL,

Without the first non-negative term this expression implies that > 0. Therefore,

there is unique L, such that (108) is stable and NL, € (0, L),

IN
peese_ L SDTTEL=p (109)
' §I§, 5 (0 —1) (0 + p) + D5

The numerator in (109)) is positive if is positive.
Combining (109)) with and gives the socially optimal (interior) allocations

of labor force —.
Given that labor force allocations are constant from and ((105) it follows that

NE,SP NE,SP
gY = (0 + Iu) g)\ 3

where giVE’SP can be derived from and ([109)),

INI—Q
gNE,SP _ fDSP—S'N L—p
’ (0 =1) (0 +p) + D5

Therefore, the Social Planner chooses allocations such that the economy, where there

is "no entry”, makes a discrete jump to balanced growth path.
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Proof of Proposition Lifetime utility of the representative household in case

when the Social Planner innovates is

[UNESPNL.€(O,L) — [} 1 1
L=0(o+p)(0-1)g3 """ +p

1 oFp A
N=1)(0 NLNE,SP) (LNE,SP> 1 .

X

where N LYESP L}]YE’SP, and gf\VE’SP are given by , , and . In turn, in case
when the Social Planner does not innovate it is

1-6
[FNESPNL=0 — [} _ 1 l <Nai1 A (0) NLNE,SP) ot <LNE,SP> 1= B EL
- 1—6p e Y pl—06

where NLNESP and LY®5" are given by and .
Using , , , and it can be shown that the inequality

UNESPNL=0 o [fNE,SP.NL€(0,L)

is equivalent to

(0—-1)(14p)+1

S [ DRI 4

IN
(5 N o : G-+ +1

Denote

» = gDSPIgl_ZLl

N
and take the natural logarithm of both sides of this inequality:

0<[(0—1) (14 + 10— 1)1+ @)=+ 1) I ((6—1) (1 + ) + 1)
—(@—-1) (14 p)lnz.

The derivative of the left-hand side of this inequality with respect to z is greater
than zero. Meanwhile, the left-hand side is equal to zero in case when z = 1. Therefore,
given that holds z > 1 and

[JNE.SPNL=0 o [7NE,SP.NL-€(0.L)

Proof of Proposition 14 It is straightforward to show that if the number of firms
N is fixed the economy is on a balanced growth path. Further, it is straightforward
to show that 7 in declines with N (see also proposition 29). This, together with
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cost-free entry and that 7 in is constant on balanced growth path, implies that at
time zero (t = 0) N makes a discrete jump to the balanced growth path equilibrium
level where 7 = 0. Therefore, thereafter in decentralized equilibrium with cost-free

entry the economy is always on a balanced growth path.

Proof of Proposition : If and the remaining optimal rules/constraints are
binding, then for the case when there is no exchange of knowledge (I, , = 1) it is

straightforward to show that the optimal labor force allocations are

+p
N [CFESPS3 _ 9 L, 110
f S0rm-(-0) o)
NLCFBSPSS _ e=D(o+p) L, (111)
S0t -(-0)
[CFESPS3 _ (e-1)(1-o) L. (112)

e(l+p)—(1-0)
It can be further shown that the returns on knowledge accumulation are given by

I, g0+ p)
N e(1+p) —(1-0)

In turn, from , , and ((110)-(112) it follows that

Gar =P =& L. (113)

gry = 9L, = gni, =0, (114)
1

gc = (o +n) (6_—191\7 + 9A> ; (115)

gr = &Ly, (116)

9o = —9n — (0 = 1) gc + gn. (117)

Combining these conditions with ((113)) gives a differential equation in N,

e—1
e—1—-(0-1)(0+p)
e—1—-0—-1)(c+p) 1

o RS ey sy s v

gNn =

Since %’—&V > 0 the only stable solution is ,

flotpe-1-(0-1)(0+p,

O ) NG s R

which implies that
gN = 0.
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Therefore, from and ((110)) it follows that holds,

Ce—1-0O-1D(c+p)

CFE,SP,S.3 P
A

This implies that the economy needs to make a discrete jump to balanced growth path

at time zero.

Proof of Proposition In order to check whether is binding denote

[JCFE.SP.S3,N<+oc _ [JCFESPS3N<to0 | L1
B 1-0p

From it follows that

[JCFE,SP.S3,N<+o0o _ 1 1
1=0(0—1)(c+u) g +p

X {(NELA (0) NLx> o Lly—“} - ,

where N, g5, NL,, and Ly are given by (75)), (76), (111), and (112)) correspondingly.

In case when 6 > 1
[JCFE,SP.S3,N=to0 _ 0,

whereas
[JCFESPS3N<too < ()

Meanwhile, in case when 6 =1

[JCFE,SP,S3,N=to0 _ to0,

whereas

[JOFE.SPS3N<too - | o

Clearly, therefore,

[JCFE.SPS3N=+oo - UC’FE,SP,S.3,N<+0<>’

implying that the solution with finite /V is not optimal.

Therefore, in case when there is no exchange of knowledge (1%, , = 1) the Social
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Planner sets

N = +o0,

CFE,SP,S3 __ CFE,SP,S.3 __
o — NLS =0

NLSFE,SP,S.?; _ DSPL7

Y

l1—0
L)C/FE,SP,S.S _ DSPL,

o+ u

and the economy is static.

Proof of Proposition If there is an exchange of knowledge among high-tech
firms, the expression for perceived elasticity of substitution e” indicates that e*
does not depend on the type of competition. Since for any given number of firms the
perceived elasticity of substitution is higher under Bertrand competition (eBf > e“f),
from it follows that in equilibrium there are fewer high-tech firms under Bertrand
competition than under Cournot competition. Further, given that perceived elasticities
of substitution monotonically increase with the number of firms and actual elasticity
of substitution, from ([71)) it follows that the number of firms under both types of
competition declines with ¢ and increases with p. It also increases with « if there are
knowledge spillovers (S.2) and does not depend on « if there is knowledge licensing
(S.1).

If there is no exchange of knowledge among high-tech firms the right-hand side of
and perceived elasticity of substitution e* from and are increasing in N
and ePf > ¢“% for any N. Therefore, also in this case there are more firms under
Cournot competition than under Bertrand competition@ Moreover, the number of

firms N declines with ¢ and increases with p and «.

Proof of Proposition [21: In cases when there is an exchange of knowledge among
high-tech firms

0  (0-1)(0+p)ELED+aly, ;£LED — (EDL —p)+ pZD
da (0 —1) (0 4 p) + ally 5+ D]’ ’

o &L [(0 = 1) (0 +p) + algy 5 %D —(0—1) (DL —p) + P%D
o™= (0 —1) (0 4 p) + ally 5+ D]’ '

34Tt can be shown also that the quadratic polynomial in opens upward and under Bertrand com-
petition for any N it is lower than under Cournot competition. Since stable equilibrium corresponds
to the smaller roots of the polynomials, the number of firms is lower under Bertrand competition.
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Therefore the sign of a% gy is equivalent to the sign of

) ) ) )
(0=1) (0 + 1) LoD+ ally 4§Lo-D = (EDL—p)+p5-D,  (118)

where

_o{éoLfall, 5+ (0—1) (0 +p)] +p}
EoL[l—o+ally, s+ (0 —1)(c+p)]+0op
o €L (1-0)o (oL~ p)

0o~ {eoL[1—o+ally s+ (0 —1)(0+p)] +op}

Using these expressions and manipulating (118]) gives the following expression
¢oL(1—0)—{¢oL[l—o+a+(0—1)(oc+p)]+op}

which has a negative value. This implies that g, and NL, decline with o. Moreover,
since NL, = D (L — NL,) and 2D > 0 this implies that NL, increases with a.

In turn, the sign of a%gA is equivalent to the sign of

EL[0-1) (o + 1) +alky ] 5D~ 0=V EDL=p) +ppD. (19

where

0, &L-o0)o(EL—pO-1)

Jr {¢oL[l —o+a+(0—1)(c+p)]+op}*

Using this expression and manipulating (119) gives the following expression
ooL(1—0)—{{oLl—c+a+(0—1)(c+pn)+op}

which has a negative value. This implies that gy, and N L, decline with p. Moreover,
since NL, = D(L — NL,) and %D > 0 this implies that NL, increases with p. In

contrast,

o O-1D(+w o+ ELLD+alk, o |(€DL—p)+ (o + ) ELLD
o~ (0—1) (0 + 1) +ally o+ D]’
D (DL = p) + (0 + ) pzr D
[(0—1) (0 +p1) + alby s+ D)’

which is positive.
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Proof of Proposition Let the marginal tax rates be constant. This implies that

(95)-(100) hold. Combining (82)), (83)), and (95)-(100) gives the counterpart of (101)),

L—NL,
N1+ p) (0 —1) +1]

x{[(e—l)(a+m+DGO—a

i, -

N-—-1 T
N 1—7’,\

¢NL, — (EDCL — p)} :

The stationary solution of this differential equation is given by

L- L EDOL —p
"UEN(0—1)(0+p)+ DGO — oA DT

1—7)

Remaining labor force allocations can be derived from and .

Proof of Corollary : Subsidy/tax rate 7, can be derived from zero profit condi-

tion
0< Ly L
T = Tp = — — .
L, -1
where
Lr o L;?P o gDSPL —p

L I~ @—1) (o +n)eDPL+ D)

Proof of Corollary To prove that 7 is monotonically decreasing in N consider
its first term. It can be shown that
De¥

— = BR.
aN>Ok: CR,BR

This implies that the first term is monotonically decreasing function of N. For the

second term,

NLg [ 8 NL, NL, [ & NLg
i N _ Ly (8_NLY)_LY (8_NLY>
ON 7T — (9w — 6gn) <NLZ>2 7
Ly
where
0 NL, 1 (NL,+Ly\ 0b
ON Ly b Ly ON’
0 NL, _INL, ob
ON Ly b Ly ON’
Therefore,
0 e (1Vi—oo
ON7T — (gy —O6gn) bk o ON’
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where

ob*

N > 0.
Therefore, the second term is monotonically decreasing function of the number of firms
as well. Hence, 7 is monotonically decreasing function of N.

An alternative proof for © < 0 uses the labor market clearing condition ,
final and telecom goods production functions , , and the relation between labor
demand in final goods and high-tech goods production. A sufficient condition to observe
the desired is boLﬁ < NL,, which can be shown to hold from the labor market

clearing condition.

Proof of Proposition [26f The growth rates and labor force allocations can be

derived from (30)-(38) and (95)-(100). In case when there is continuous entry into the
high-tech industry the growth rate of knowledge is

¢DL —
gSF = P (120)

(0 -1+ I]%:O> B+all, 5+ D

The growth rate of consumption, final output, number of firms and savings are

CE _ CE _ CE _ CFE
dc =9y =9GN = Gs

= Bg{*.
Proof of Proposition Given that in this case NV is endogenous state variable it is

convenient to rewrite labor force allocations to knowledge accumulation and production

of high-tech goods as
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The hypothetical Social Planner’s then solves:

+000170 1
U= | +—— —pt) dt.
Jhax / g o (=nt)
0
s.t.
Y=C+S65, (121)
_ \ ot _ _ .
v=(NFL) T (L- k- L)' (122)
A =&ML, (123)
N =18, (124)
A(0) >0,N(0) > 1.
The Social Planner’s optimal choice for accumulation of N is given by
: otpl
N = — Y — . 12
[N]:4n = qnp 1 y¢ (125)
The remaining optimal rules are as follows
- - o+ u
L,|:L,= L 126
L] Lo= T, (126)
_ LY
(L] qpéx=(1—0)C"— (127)
Ly

: = Y

A :dn=ap— |l + (0 +p)C 5 (128)
Since C' and S are in the same terms it has to be that
C~? =nqn. (129)

Using expression ((127)) and labor market clearing condition the returns on
knowledge accumulation ((128) can be rewritten as

l—0 - o+ u
=p— L, L. 130
Gar = P (1+’uf +1+’u5 ) (130)
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In turn, from and ((122)-((127)) it follows that

1
gy = (0 + ) (:9N+9A+gim) +(1—0)gLy, (131)
gr = &Ly, (132)
_n2
gN - 77N7 )
o 0L, 1
S T
9ar = —09c + 9y — g1, — 9x- (133)

From these expressions and ((125)) it is possible to derive a differential equation in

LY7
co+pu C

o+ pu
c—)u N

JrLy =

+
$L+§—(1T_ZLY+ (134)

Since growth rate of Ly increases with Ly the only stationary solution of this equation

is g, = 0. This implies that labor force allocations are constant in the social optimum
9i, = 9i, = 9oy = 0.
Moreover, implies a relation between N and A\ on balanced growth path and
gc = gn-
These results, together with — and , imply that
gn = const

and

gN = gs = gc = gy -

From ((131)), (132)), (133]) and labor market clearing condition then it follows
that

E,SP E,SP
CESP _ pSP CES

gY A )
gC’E,SP _ fDSPL —p
A (0 — 1) BSF + DSP’
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and

1 ¢DSPL—p
NLEESP = = 135
r £ (0 — 1) BSP 4 DSP’ (135)
160 —1)B"L+p
NLCE’SP — DSP_ 136
v (0 — 1) BSF 4 DSP’ (136)

LCE,SP _ 1—O'DSP1§(0_ ]_) BSPL+p
Y o+pu £(0—1)BSP 4 DSP’

(137)

It can be shown that as long as there can be negative investments in N and 7 is
sufficiently low in the social optimum the economy makes a discrete jump to balanced
growth path at time zero (¢ = 0). This holds because when the economy is relatively
abundant of N [(137) does not hold] then the Social Planner at time zero selects
negative investments in N so that holds from the following instance. Meanwhile,
sufficiently low 1 guarantees that balanced growth path value of N is so low that when
the economy is relatively abundant of A\ there are sufficient resources for savings that
(immediately) cover the gap between initial and balanced growth path value of N. The
Social Planner in such a case also selects savings so that the economy makes a discrete

jump to balanced growth path.

Proof of Corollary Let N > 0 and

_ uto
k(o +p)

so that DY and DS are equivalent. Combining equations (95)-(100) with (82) and
gives the counterpart of (101]),

. L—NL N—-1 7,
NL,= ——"" | 0B+ D" — NL, — (¢D°PL —p)| .
GBi—i’ﬁJrlK " N 1—TA>§ (¢ 2
If
N -1 T
« pr—
N 1—7')\
or equivalently
N 1p
= N—-1a«
L+ 5538

then labor force allocations and growth rates in decentralized equilibrium coincide with

the choices of the Social Planner.

56



Appendix E.1

In this section I present a setup where high-tech firms cooperate in R&D and select
optimal rules for R&D so that to maximize joint profits. High-tech firms later compete
in the product market. I call this case CO - R&D Cooperationﬁ

I offer below the setup of the high-tech industry and the optimization problem of
high-tech firms in the stage of R&D cooperation.

R&D Cooperation: Each high-tech firm has its knowledge. At R&D cooperation
stage high-tech firms establish a research joint venture where they pool their knowl-

" a group of researchers combines

edge and jointly hire researchers. In a ”"laboratory’
the knowledge of different firms in order to produce a better one for a firm. There are
as many laboratories (or different knowledge production processes) as many there are
high-tech firms. This research joint venture takes into account the effect of the accu-
mulation of one type of knowledge on the accumulation of other types of knowledge.ﬁ

In such a case high-tech firms take as given and jointly solve the following

optimal problem.

+oo N(t)

t
max / Zﬂ'j (t) exp {—IT (s) ds] dt
i\t '
s.t.
N N
> =D (s, = w) Lo, —wNL, (138)
j=1 J=1
Ty = )\jLa:ja (139)
. N
Aj=¢ (ZV) ALy, (140)
i=1

The optimal rules for R&D that follow from this problem are

s
(L] :w=q\,-L, (141)
L,,
. N k N
ax,; €; — 1291: O\,
Ni| =L =r— J — L, +=—], 142

351t might be argued that firms’ cooperation in R&D increases the odds that they will collude in the
product market. I rule this out in order to focus on the differences between knowledge exchange
mechanisms.

36 An alternative cooperation mode is that high-tech firms in R&D stage jointly hire researchers and
produce the same knowledge for all. In such a case the knowledge accumulation process is A= EANL,.
It can be easily shown that the decentralized equilibrium outcome of this cooperation mode is no
different than the outcome of the cooperation mode offered in this section.
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where

0N _er, (143)

o,
N >\ @
X<1l+(1—a)| Y =] +a
i=Titi Aj

N oN ot (N L,
oN; ot oN  \\ L,

The third term in the second line of (143]) illustrates effect of the accumulation of
the jth type of knowledge (the knowledge of high-tech firm j) on the accumulation of

and

(144)

remaining types of knowledge.

In symmetric equilibrium, according to ((140) the growth rate of knowledge is
gr = ENL,. (145)

The rate of return on knowledge accumulation can be derived from (19), (141)-

. It is the same as where I}, 5 =0,

L,
9o =T — 9 L_r+1 .

The growth rates of quantities and prices that characterize the essential dynamics
of this model if there is R&D cooperation are given by — and

Guw = Gqr T G- (146)

This equation is the counterpart of .

From high-tech firm’s demand for labor for production , final goods producer’s
optimal rules @—, and the relation between Px X and p,x @D follows a relationship
between NL, and Ly . This relationship together with labor market clearing
condition , implies a relationship between NL, and NL, .

Meanwhile, in the final goods market holds

Y =C.

Combining @) with (19). (). €8). . @3-ED). (). ([T5). and {7 gives
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a differential equation in L,.,

. L— NI,
L= N1+ p)(6—1)+1] (147)

x {[(0 =1) (o +p)+ D] ENL, — (DL —p) },

which is the counterpart of .

Let# > 1 and hold. Therefore, given that the first term of this differential equa-
tion is non-negative there is unique L, such that is stable and NL,,NL,, Ly €
(0, L),

1 EDFL —p
TEN(O—1) (0 +p)+ DF

Combining this expression with the relations between N L, and Ly and NL,
and NL, and gives the equilibrium allocations of labor force and growth

rates of final output and knowledge

L,

T —-1)(o+p)+ DY
O—=1)(c+pu)L+gp
(0 —1)(oc+u)+ D+’
e _1l-o O =1) (0 +w]L+gp
Y abk 0 —1)(oc+pu)+ D+’
o = o+ 1))

(DML —p
—1) (o + p) + DF

NLYP = D

95E2=(9

Therefore, in decentralized equilibrium with no entry and R&D collaboration if
holds the economy makes a discrete jump to balanced growth path. Further, the
growth rates and labor force allocations are the same in cases when there is knowledge
licensing (S.1) and R&D collaboration (CO). This means that if there is no (contin-
uous) entry knowledge licensing and R&D cooperation deliver equivalent equilibrium
outcomes. Therefore, the policy — also leads to the first best outcome in terms
of allocations and growth rates in this case.

Further, in line with the results offered in the section where I discuss policies in
order to have socially optimal number of high-tech firms there need to be lump-sum
transfers to high-tech firms given by . These transfers make sure profits are greater
than zero for any finite N and are zero for N = +o0.

When there is continuous entry into the high-tech industry equations and
(146) identify the difference between R&D cooperation (CO) and knowledge licensing

(S.1). The rate of return on knowledge accumulation in case when there is knowledge
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licensing declines with continuous entry of firms (N > 0). In contrast, in case when
there is R&D cooperation it does not do so. This is because in R&D cooperation
case firms choose R&D expenditures to maximize joint profits. Meanwhile, in case
when there is knowledge licensing entry erodes the profits and returns on knowledge
accumulation of high-tech firms.

It can be easily shown that when there is continuous entry and R&D cooperation

the growth rate of knowledge/productivity is

(DL —p
9" = CDtw) | ' (148)
O—1) S TP

This implies that, the policy — leads to the first best outcome in terms of
allocations and growth rates in this case.
Comparing (120 and ((148) it is straightforward to notice that

c CE,5.1-2
9x P> 9 :
This is because continuous entry (N > () into high-tech industry decreases the returns

on knowledge accumulation if high-tech firms engage in R&D disjointly.

Appendix E.2

In this section I show that adding knowledge depreciation and spillovers in case when
there is knowledge licensing does not alter the main results. I consider exclusively S.1
and S.3 cases and the decentralized equilibrium of the model. I further assume that
there are exogenous barriers to entry into the high-tech industry.

In order to support symmetric equilibrium I assume that the rate of depreciation of
knowledge is the same across high-tech firms, ¢ (> 0). This implies that the knowledge
accumulation processes in case when there are is no knowledge exchange among high-

tech firms (S.3) can be written as
A= ENTOL,, — 6, (149)

Meanwhile, adding spillovers in the knowledge accumulation process in case there

is knowledge licensing results in

. N .
N=¢ [Z)‘z (uiyj)\i)al} AS2 Ly, — A, (150)
i=1

ar+as>1—a,
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where I assume that in equilibrium
Ai = (uihg) T2

The optimal problem of high-tech firm j in such a case is

+oo

max V; () = / 7 (£) exp {— tftr (5) ds] dt

Cournot: L;,C LT Augiuq J}z 13(i%9)
Bertrand: pe;,Lr; {u;j,i, um}l_l’(l#])

t
s.t.
Tj = Py — W (Lmj + L?‘j)

N
Z Pujix; (Uj,i)\j) - Z Pu; ;2 (uzj/\ )] )

i1=1,i#j i=1,i#j

®. (1), (149) or (@50).

The demand functions for labor force for production and R&D are then given by

[La,] cw = \jpa, (1 — e%) , (151)

J
)Y
9L,

(L) cw=a, (152)

In case when there is knowledge licensing (and spillovers; S.1) the returns on knowledge

accumulation are

. €k—1x (9)\ N U 7
[/\j]:qﬁ:r—<Jk ng +a+ > Puy.2, 05 ,

¥ € QX i=1,i#j %
where )
0 AL i A\ A =4
8)\ —§ T QQZ (uz] ) —|—O[1 - U

and the supply of and demand for knowledge are

[wjil tuje =1, Vi # j,
[uz]] T C]Aj§0415\i (uz’,j/\i)al_l /\?QLW Vi # j.

Meanwhile, in case when there is no exchange of knowledge among high-tech firms
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(S.3) the returns on knowledge accumulation are

o b1y, i
] B =g [eﬂ B L+ (1= @) EANL, —5] .

k
Q)\j ej Q)\j

In a symmetric equilibrium, in cases when there is knowledge licensing (S.1) and no
exchange of knowledge among high-tech firms (S.3) returns on knowledge accumulation

can be rewritten as

L, o
=+ (4 8) (24157 (159)

where
o a4+ ag for S.1,
Ig3" =
' 1—a for S.3.

Using (37)), (95))-(100), (151) and (152) this expression can be rewritten as a differ-

ential equation in L,.,

i L—NL,
N[O D w1
([(0—1) (0 +p)+ D +1— 153 &I, _,L,—

{gD’f%L +[(0—1)(0c+p)+ D" 65— p}) :

Let
15172 S
ng'TL—(l—I )6 —p>0.

This differential equation is stable if

IN172
1 DML [0 -1 (o +p) + Do —p
L, (O=D(oHp) DR T

This implies that the economy immediately jumps to balanced growth path where

labor force allocations and growth rates of final output and knowledge are

IN
N DML [0 -1 (o +p) + Do —p
s (0—=1)(0+p)+ Db 41— Igy"
NL,=D*(L - NL,),

NL,

’

l1—0
LY: O'bk NLQS)
gy = (0 +p) gn,
N
I R L
(0—1)(up+o)+DF+1— 153"
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Therefore,

dg»  ONL,  ONL,  OLy
a5 Ve Vs <Y

<0,

and
0 ONL, ONL, oL
e e A W e A Wit SR ) (154)
aIS.?)a a[S.Ba 813.30‘ 0]5'304

Relationships (154]) imply that the growth rate of productivity and labor force allo-

cation to productivity /knowledge accumulation are decreasing with the degree of not

appropriated returns on knowledge accumulation. Meanwhile, NL, and Ly are in-

creasing with it. This is analogous to the results in section Entry Regime 1.

Appendix E.3

In this section I relax the assumption that there are externalities within high-tech
firms in two ways and present the main properties of the model. First I assume that
there are decreasing returns to knowledge accumulation at firm-level unless there is
an exchange of knowledge among high-tech firms. Next, I assume instead that there
no externalities in high-tech firms and, as in the main text, returns on knowledge
accumulation are constant even if there is no exchange of knowledge.

I have assumed that NV is a real number. If NV also changes continuously then in the
sums in and each firm has zero size. Since A of each firm is finite dropping firm
7 or any finite number of firms from those sums makes no difference for the inference.

If N changes discretely (and each firm has unit size) I assume that N —1 > 1 so
that knowledge exchange can only increase the productivity of researchers. In such a
circumstance I assume that if there is knowledge licensing the knowledge accumulation

process of high-tech firm j is given by

}‘j :g [ g: ('LLL]')\Z')CM] )\]l'_aLr].. (155)

i=1i#]

This is the counterpart of where u; ; = 0. In turn, if there are knowledge spillovers
the knowledge accumulation process is given by where

A

N
> AN (156)
i=1,i#j

If there is no knowledge exchange among high-tech firms I assume that knowledge

accumulation process is given by where

A

1. (157)
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Therefore, the counterparts of , , and are given by

8}\j [ N (Uz'j)\i)a_

I —¢(1-a AU B 158
o - c0-| > (% ] (158)
8}\j [ N (Ul'j>\i>a_

i —t(1—-a W) L 159
o, - 2 (5 | (159)
)Y

(1 = Ter, 1
o =) L, (160)

I further focus on symmetric equilibrium analysis in the high-tech industry. For the

subsequent analysis it is useful to define function I3, ", as

S1=2 71 N — 1 otherwise.

o _{ A= for 8.3,

In such a case the growth rate of knowledge in the high-tech industry in all setups
(S.1-3) can be rewritten as
g = €I L (161)

The (internal) rate of return on knowledge accumulation can be obtained from the

optimal rules of the high-tech firm , , and , , (158)-(160). It is given
by (1),

T

L, .
Ggn =T — ga L—+1—afs.2_3 ,

where
gy = EILTL L

Combining @) with (). €. 3. €. ED. [@0). @3- and () gives
the counterpart of ,

. L—NL,
L= Naxye-n+1 (162)

]’N*l IN*I
X { (0 —1) (0 +p) + all, 5+ D] g%NLT — <§DkML — p) } .

N

Assuming that
N -1
DF—— — 0
6 N p > 9

if there is exchange of knowledge the stable solution of this differential equation is

EDFL — %p

1
NL, =~ :
§EO—=1)(c+p) +all, s+ DF
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Therefore, g, is given by

gr = ng%L_p .
(0 —1)(o+p)+all, s+ D*

This implies that the comparative statics with respect to o, u, a, €, and type of
competition presented in the section Entry Regime 1 hold. Moreover, g, increases
with IV and at least for sufficiently high N (/N > 2) it is concave in N.

Meanwhile, in case there is no exchange of knowledge the expression is sec-
ond order differential equation in knowledge A. It describes the path of A. In the
steady-state the growth rate of knowledge and labor force allocation to knowledge ac-

cumulation are zero. Therefore, labor force allocations to high-tech and final goods
production are given by and .
If there are no knowledge externalities within high-tech firms

In this section I assume that everything else the same in case when there are knowledge

spillovers among high-tech firms the knowledge accumulation process is given by
A =¢ [Aj + ]\)\]1.‘“} L., (163)

where I assume that in equilibrium A is given by 1’ Meanwhile, in case when
there is no exchange of knowledge among high-tech firms I assume that the knowledge

accumulation process is given by
Aj = ENL,,. (164)
From ((163)) it follows that needs to be rewritten as

o\

o ¢

i=1i#]

N A\
I+(1—a) > <)\—> L,,. (165)
J
In turn, from ([164) it follows that needs to be rewritten as

O\
a_Aj =¢(1—a) Ly, (166)

The (internal) rate of return on knowledge accumulation can be derived from the

optimal rules of the high-tec rm an an
ptimal rul f the high h fi , , d , , (|163|), (|164|), (|165|), d
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(166). In a symmetric equilibrium, in case there are knowledge spillovers it is given by

QQX:T_Q/\|:£+1+(1_OK)(N_1):|, (167)

L, N

and in case when there is no exchange of knowledge among high-tech firms it is given
by where I3, 5 =0,

L,
Gg =T — gx <L— + 1> . (168)

From it follows that if the knowledge accumulation process is given by
then the growth rate of knowledge and labor force allocations are given by —
where I§, 5 = 0 and I}, , = 1. Therefore, the comparative statics with respect to
o, i, €, N and type of competition presented in the section Entry Regime 1 hold.
Meanwhile, g, does not depend on «.

Further, combining with , , , , , , , and -
gives the counterpart of ,

i L-NL,
SRR (CESVIEnES T

{|:(¢9—1)(0’+/L)+Dk+a

N -1

(NL, — (ED*L — p)} .

Therefore, the stable solution of this differential equation is

1 ED*L —p
£(0—1)(c+p) + D+ + ot

NL, =

This implies that the growth rate of knowledge is given by

gS.2,NEa: _ 5DkL - P
A (0 —1) (0 +p) + DF + oL

Therefore, the comparative statics with respect to o, u, «, €, and type of competition
presented in the section Entry regime 1 hold.

If N changes continuously then % can be replaced by 1 and gf‘Z’NEgc is increasing
and concave in N. Meanwhile, in case when N changes discretely gf‘Q’NEz is increasing
and concave in N if parameters 6, p (and oand p) are sufficiently high and N is

sufficiently small. However, if 8 and p are low (e.g., 8 = 1,p = 0) or N is high then

2,NEx . : :
gf "7 is decreasing and convex in N. It can be further shown that
5.1 S.2,NEz 5.2
IN > 9x > g\
lim gf’Q’NEx = lim gfz.
N—+oc0 N——+oco
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Appendix E.4

In this section I present the main properties of the model if high-tech firms take into
account the effect of knowledge accumulation on the price of knowledge p,, ;»,. Further,
I offer a policy that if implemented in decentralized equilibrium leads to socially optimal
outcomesP7]

The high-tech firms in this case internalize the demand . Therefore, the profit
function of high-tech firm 7 ”at the stage” when it designs its supply of knowledge and

knowledge accumulation is
) = Pa;@j = w (Lo, + Ly,)

+
i=1,i#j i=1,i#j

N N
af > g (uid) N Ly, — Y Puia, (Ui,j)\i)]-

This implies that everything else the same needs to be rewritten as

. & . .
qx; ei —1p,. O\ N g (uiah) AL,
N =L =r— | L2—"L, + 2L +a% N L A Wi Y
[j] £oy [ e? PV OA; iZIZ,iyéj QAj/\j

Therefore, in symmetric equilibrium the rate of return on knowledge accumulation is

L, N -1
qu:r—gA[——i—l—a(l—a) } (169)

L, N

In this expression the third term in square brackets captures the adverse effect of higher

knowledge accumulation on the price of knowledge.

Combining —, , and ([169) gives the counterpart of ((101)),

L-NL,
N1+ p) (0 —1) +1]

X {[(9—1)(a+u)+D’“+a(1—a)

L, =

N -1

¢NL, — (ED*L — p)} :

37T assume that price discrimination is not feasible. This is necessary in order to avoid the problem with
determination of the price of durable goods (Coasel [1972)). In this framework it can be supported,
for example, by an assumption that the licensors have to license their entire knowledge (at a uniform
price). Another assumption that could support this is that licensors rent (but not sell) their knowledge
and cannot monitor its use.
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Therefore, in equilibrium

NNEM _ 1 EDML —p
' 5(9—1)(0+u)+Dk+a(1— o) N1
NLNE7M:D]€[(9_1)(U+N)+O( (1—a) } %

<0—1)(0+u)+D’“+a(1—a>% ’

NE,M -0
LY = WNLQC,

gy = ENLYEN,

where I use M in order to indicate that the firms are price setters in the market for
knowledge in the sense that they internalize the effect of knowledge accumulation on
the price of knowledge. If N changes continuously then % can be replaced by 1 in
all these expressions.

Comparing these results with — it is clear that for any given N

NLrj,VE’S'l > NLT],VE’M > NLiVE,S.Q’

NL:]E\/'E,S.I < NL:]EVE’M <NL:JEVE’SA2,
LNE,S.I <LNE,M <LNE,S.2

Y )
NE,S.1 NE,M NESQ
gy > gy > gy

Therefore, with cost-free entry assumption

CFE,S.1 CFE,M CFE,S.2
9x > g > gy )

and
NCFES1 _ NCFEM _ NCFES2

This is because Z P is monotonically decreasing function of N.

If N changes continuously then gNE M

is increasing and concave in N. It is increas-
ing and concave in N also in case N changes discretely if parameters 6, p (and o and
) are sufficiently high and N is sufficiently small. However, if §and p are low (e.g.,
=1,p=0) or N is high then gf\VE’M can be decreasing and convex in V.
These results imply that if high-tech firms take into account the effect of knowledge
accumulation on the price of knowledge they innovate less. Therefore, the economy
grows at a lower rate than the economy where high-tech firms do not take into account

this effect. Moreover, since

SP S.1
gn > 9x

the economy (again) fails to grow at the socially optimal rate and fails to have socially
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optimal labor allocations.
A policy that can equate decentralized equilibrium allocations and growth rates
to their socially optimal counterparts subsidizes the demand for high-tech goods and

high-tech firms’ demand for knowledge. It can be shown that this policy is

b+ o
Ty = )

¥ (o + p)
n=1—a.

Further, in line with the results offered in the section where I discuss policies in
order to have socially optimal number of high-tech firms there need to be lump-sum
transfers to high-tech firms given by . These transfers make sure profits are greater
than zero for any finite N and are zero for N = +o0.

The profit function of high-tech firms can be rewritten as

N -1 T Lr M
= wL, — (11— — : 170
T=w [ek—l ( a— 1—T,\)LI+T"} (170)
where
LT_L;?P_ EDSPL —p
L, L3"  (0—1)(0+p)EDSPL+ DSPp’
Therefore,
L 1
M _ T
T —aLx 1

This implies that unlike 7, from the rate 72 can be negative, for example, if
o~ 0P

Appendix E.5

In this section I present the main properties of the model in case when final goods
producers do not hire labor (o = 1) or Ly is fixed.
If o =1 then (4] is given by
Y = XX. (171)

and final goods producers’ demand for high-tech goods bundle is given by

Py=X. (172)

38In order to have a meaningful policy a parameter restriction is required so that 7 which solves zero
profit condition for (170 is increasing in N.
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Assuming symmetric equilibrium this implies that needs to be rewritten as

gy = (1 + u) gx, (173)

and needs to be replaced by
9o = 1 (9r +91.) (174)

which follows from , , , , , and .

Since Ly = 0 the labor market clearing condition is
L=NL,+ NL,. (175)

Combining with (30), (40), (97)), (97), (99), and (173)-(L77) gives a differential

equation in L,,

L—-NL,
NIO—-1)(1+p)+1]

i -
IN
LO-Da+m+ath, )6 - (€522 p) ).

Therefore, labor force allocations and growth rates of final output and knowledge /productivity

are given by

NL = ¥ o
Y O -1 (At ) tali, s+ 1
[0 =1) (Ut )+ alyy 5] L+ o —p
e O—-1)(Q+p) +aly, ;+1 ’
gy = (14 1) gx,

Ié'vl—2
g = gTL —P .
O@—1)(14+p) +ally, s+1

Given that in this case Ly = 0 these expressions coincide with — in the limit
when o = 1. They suggest that if o = 1 labor force allocations and, therefore, growth
rates do not depend on competitive pressure in the high-tech industry. This is because
in this case there are no relative price distortions in the sense that all prices are affected

in a similar manner.
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In case, however, Ly = (; > 0 then from and it follows that

o e —1

NLac: 5
1—0 e€F G
b — o

NL, =L-——"2 ¢.

(1—0)ek<1

Increasing competitive pressure in the high-tech industry increases e in these ex-
pressions. Therefore, N L, increases with e, whereas N L, declines with it, which means
that increasing the competitive pressure in this case increases the output of the high-
tech industry but reduces the amount of resources devoted to innovation. This is
because increasing the competitive pressure increases N L, and since Ly is fixed that
reduces NL,.

In case when the wage of researchers L, is given wy, = (24 the demand for labor
for R&D of high-tech firm j is given by
A
Ly,

er = Q)\j

Combining this expression with gives the relative demand for labor for production.

In symmetric equilibrium the relative demand is

w e—1p,
Iy — = —.
§ S1=23, 7 e o

r

Combining these expressions with returns on knowledge accumulation and —

gives
w NL, 1
Gur, =T =g | — —adgy g ) -

wr, N LT
Assuming that g, = g, from this expression, , and — it follows then
1

I T D) (1) 1

w NL
0—1 Il — g —— 5.
<10 - 10+ +alhy oo - o1
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In turn, from (37) it follows that

L—-NL,
N1+ p)(0—1)+1]

|0+ ati v o0 e,

1Y w
_<€ S]if?wL DkL p>}

Therefore, labor force allocation to R&D in the high-tech industry and growth rate of

i -

knowledge are given by

N

NL = — g DL —p
T, L, (0-1)(o+p) +all, g+ =D
3 T
g—lév']i;ﬂwﬂLerL —p

gr = . .
(O —1)(0+p)+alg, s+ =D

innovation.

Appendix E.6

In this section I show that subsidies to production of high-tech goods (77,) and R&D
expenditures (77,) can also lead to first best labor force allocations and growth rates.

Under such a policy the profit function of high-tech firm j is

T =pa,x; — (1 —7p,) WLy, — (1 — 7, ) why,
N N
Do Puyin (UiiAi) = D2 Pug i (Uighi) | + T
i=L,i] i=Li#j

In turn, its demand for labor for the production of its high-tech good and demand
for labor for R&D are given by

[Laj] : (1= 70,) w = Ajpa, (1 - i) :
i

J

J Lrj

[Lrj] (1 — TLT)’LU = (q);

Assuming symmetric equilibrium and combining these optimal rules with @, ,
and labor market clearing condition gives the counterparts of the relation
between NL, and Ly , returns on knowledge accumulation , and the relation
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between NL, and NL,.

1 o

NL, = V¥ Ly,

_1—TL11—O'

1—7'L Lx
—= — zr_- ]_
Jon =1 gA(l—u@TLr+ >’

NL,=D% (L - NL,),

where

D = (1—7’LZ) o b_k+1 .

Assuming that subsidy rates are constant and combining these conditions with

(95)-(100) gives the counterpart of (101]),

L—NL,
N[(14p)(0—1)+1]

< {[(9—1)(a+m+D6‘01_—
1

1_TLr

Labor force allocations and the growth rate of knowledge g, then are

L, =

1 £DG01—TL1L_p

NL, =~ e
§(0—1) (/UL+0)+DGO—1:ZC
v o 0Dt Lt
T 1—7;
(0 —1)(p+0) + DO
1—0
v =01-7) 1 -7,) —

g = gNLr

Therefore, in order to have socially optimal growth rate and labor allocations it is

sufficient to have

NL,=NL?" NL, = NL".

In order to achieve such outcomes it is sufficient to subsidize the expenditures of

high-tech firms
k4o
ek
In this case, 77, and 77, are equal because in decentralized equilibrium the relative

price distortions affect wages of L, and L, in the same way.
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Appendix T.1

The elasticities of substitution between the knowledge that high-tech firm j licenses
from other firms and between its knowledge and the knowledge of other firms can be
derived from ((12)).

The elasticity of substitution between the knowledge licensed from firm m and firm
k (m # k) is given by

A ].

5m,l'c -

1—a
In turn, the elasticity of substitution between the knowledge bought from firm £ and

firm j’s own knowledge can be derived in the following way.

dln (U2 )
A J
£’ fry
: (1-a)dln (u}”/\k> +dln (1 —«) % (“aﬂ)a 1
A L\ T
1=1,i#j
Denote
uk,j)\k
e
Aj
and rewrite 5;‘7 , as
1
A
ety = _
g,k 1—a+a (1—a])vz
(1—a)zo+(1—a) iR a+1
i:l,i;éj,k( % )

Since the third term in the denominator of 5?‘ ;. 18 positive
A A
Eik < Emk

This means that the elasticity of substitution between the firm’s knowledge with the
knowledge that it licenses from other firms is lower than the elasticity of substitution

between the different types of knowledge that it licenses from other firms.
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